
 1 

�<=<EF5DEF6> >5D47>64=<O, =4G>< < <>?>4U6=>= ?>?<F<>< �D4E=>44DE>>7> >D4O 

�>EG44DEF65==>5 5N465F=>5 ?D>D5EE<>=4?L=>5 >5D47>64F5?L=>5 GGD5645=<5 

�D4E=>44DE>>7> >D4O «�D>?>F><=E><= F5E=<>G< F5E=>?>7<= < 

65?57=>4>D>6=>7> FD4=E?>DF4» 

 

 

 

 

�><??5>F >F5=>G=OE ED54EF6  

4?O F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<< 6 6<45 M>74<5=4 

�� 02. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F E<EF5<, G7?>6, ?D<5>D>6 

46F><>5<?5= 

 

6 D4<>4E ?D>7D4<<O ?>47>F>6>< >64?<D<F<D>64==OE D45>G<E, E?G64M<E ?> 

?D>D5EE<< %��  

23.01.08 %?5E4DL ?> D5<>=FG EFD><F5?L=OE <4L<= 

 

 

 

%D>> >5GG5=<O 1 7>4 10 <5EOF56 

 

 

 

 

 

 

 

 

 

 

 

7. �D>?>F><=, 20237 









 3 

I. �4E?>DF >><??5>F4 >F5=>G=OE ED54EF6  

1. �5?4EFL ?D<<5=5=<O >><??5>F4 >F5=>G=OE ED54EF6 

�><??5>F >F5=>G=OE ED54EF6 ?D54=47=4G5= 4?O >F5=>< D57G?LF4F>6 

>E6>5=<O �� 02. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F E<EF5<, G7?>6, 

?D<5>D>6 46F><>5<?5= ?> 4<EF<??<=5 ���.02.01. �>=EFDG>F<O, 

M>E??G4F4F<O < F5E=<G5E>>5 >5E?G6<64=<5 46F><>5<?5= 

1.2. %6>4=O5 44==O5 >5 >5N5>F4E >F5=<64=<O, >E=>6=OE 

?>>474F5?OE >F5=>< D57G?LF4F>6 < <E >D<F5D<56, F<?4E 7444=<=, 

D>D<4E 4FF5EF4F<< 
&45?<F4 1 

$57G?LF4FO >E6>5=<O 

(>5N5>FO >F5=<64=<O) 

 

�E=>6=O5 ?>>474F5?< 

>F5=>< D57G?LF4F4 < 

<E >D<F5D<< 

�5F>4O 

>F5=>< 

$>D<4 

4FF5EF4F

<< 

�� 1.1. 

�?D545?O

FL 

F5E=<G5E>

>5 

E>EF>O=<5 

E<EF5<, 

47D574F>6, 

G7?>6, 

?D<5>D>6 

46F><>5<

?5= 4?O 

E>ED4=5=

<O 

D45>F>E?>

E>5=>EF<, 

?D54G?D5

645=<O 

>F>47>6 < 

=5<E?D46

=>EF5= 

��.01, 

��.04,  

��.07, 

��.09 

 

G<5FL: 
6O?>?=OFL >E=>6=O5 

>?5D4F<< F5E=<G5E>>7> 

>E<>FD4, 45<>=F464, 

E5>D>< < D57G?<D>6>< 

E<EF5<, 47D574F>6 < G7?>6 

46F><>5<?5=; 47D574F>6 < 

G7?>6 EFD><F5?L=OE <4L<= 

7=4FL: 
- >>=EFDG>F<N < 

GEFD>=EF6> 46F><>5<?5=, 

=47=4G5=<5 < 

674<<>45=EF6<5 >E=>6=OE 

G7?>6 < 45F4?5=;  

- <5F>4O 6OO6?5=<O < 

E?>E>5O GEFD4=5=<O 

=5<E?D46=>EF5=;  

- F5E=>?>7<G5E>GN 

?>E?54>64F5?L=>EFL 

F5E=<G5E>>7> >E<>FD4, 

45<>=F464, E5>D>< < 

D57G?<D>6>< E<EF5<, 

47D574F>6 < G7?>6 

46F><>5<?5=;  

- <5DO 557>?4E=>EF< ?D< 

6O?>?=5=<< D45>F 

3 6O?>?=O5F 

F5E=<G5E><= >E<>FD 

E<EF5<, 47D574F>6 < 

G7?>6 46F><>5<?5=;  

3 ?D><76>4<F 

4<47=>EF<D>64=<5 

F5E=<G5E>>7> E>EF>O=<O 

E<EF5<, G7?>6  

< ?D<5>D>6 46F><>5<?O. 

3 6O?>?=OFL <E?OF4=<O 

?> >F5=>5 F5E=<G5E>>7> 

E>EF>O=<O E<EF5<, 

47D574F>6 < G7?>6 

46F><>5<?5=; 

3 >?<EO645F 

>>=EFDG>F<N, 

GEFD>=EF6>  

< ?D<=F<? 45=EF6<O 

46F><>5<?5=;  

3 >?D545?O5F =47=4G5=<5 

< 674<<>45=EF6<5 

>E=>6=OE G7?>6 < 

45F4?5= 46F><>5<?O;  

3 E>EF46?O5F 

F5E=>?>7<G5E>GN 

?>E?54>64F5?L=>EFL 

F5E=<G5E>>7> >E<>FD4 

E<EF5<, 47D574F>6 < 

G7?>6 46F><>5<?5=;  

3 4=4?<7<DG5F 

F5E=<G5E>GN 

4>>G<5=F4F<N;  

3 6?4455F ?D46<?4<< 

6O?>?=5=<O G5DF565=, 

F5E=<G5E><E D<EG=>>6 < 

ME><7>6;  

->E?5DF=>5 

=45?N45=<5 < 

>F5=>4 =4 

?45>D4F>D=OE 

D45>F4E < 

?D4>F<G5E><E 

74=OF<OE, ?D< 

6O?>?=5=<< 

D45>F  

=4 GG55=>= < 

?D><76>4EF65=

=>= ?D4>F<>5  

->74<5= 



 4 

3 6?4455F F5E=<>>= < 

?D<=F<?4<< =4=5E5=<O 

D47<5D>6;  

3 E>5?N445F <5DO 

557>?4E=>EF< FDG44 ?D< 

6O?>?=5=<< 

F5E=<G5E>>7> >E<>FD4 

46F><>5<?5= 

�� 1.2. 

�EGM5EF6

?OFL 

>><??5>E 

<5D>?D<O

F<= ?> 

45<>=F46

G < 

D5<>=FG 

E<EF5<, 

47D574F>6 

< G7?>6 

46F><>5<

?5= 4?O 

GEFD4=5=<

O 

>5=4DG65

==OE 

=5<E?D46

=>EF5= 

��.01, 

��.04,  

��.07, 

��.09 

 

G<5FL: 
6O?>?=OFL >E=>6=O5 

>?5D4F<< F5E=<G5E>>7> 

>E<>FD4, 45<>=F464, 

E5>D>< < D57G?<D>6>< 

E<EF5<, 47D574F>6 < G7?>6 

46F><>5<?5=; 47D574F>6 < 

G7?>6 EFD><F5?L=OE <4L<= 

7=4FL: 
- >>=EFDG>F<N < 

GEFD>=EF6> 46F><>5<?5=, 

=47=4G5=<5 < 

674<<>45=EF6<5 >E=>6=OE 

G7?>6 < 45F4?5=;  

- <5F>4O 6OO6?5=<O < 

E?>E>5O GEFD4=5=<O 

=5<E?D46=>EF5=;  

- F5E=>?>7<G5E>GN 

?>E?54>64F5?L=>EFL 

F5E=<G5E>>7> >E<>FD4, 

45<>=F464, E5>D>< < 

D57G?<D>6>< E<EF5<, 

47D574F>6 < G7?>6 

46F><>5<?5=;  

- <5DO 557>?4E=>EF< 

?D< 6O?>?=5=<< 

D45>F 

3 6O?>?=O5F 45<>=F46 

E<EF5<, 47D574F>6 < 

G7?>6 46F><>5<?5=;  

3 6O?>?=O5F >><??5>E 

<5D ?> GEFD4=5=<N 

=5<E?D46=>EF5= E<EF5<, 

47D574F>6 < ?D<5>D>6 

46F><>5<?O; 

3 6O?>?=O5F >F5=>G 

F5E=<G5E>>7> E>EF>O=<O 

< 45D5>F4F<N 45F4?5= 

E<EF5<, 47D574F>6, 

G7?>6, ?D<5>D>6 

46F><>5<?5=; 

3 6O?>?=O5F >E=>6=O5 

E?5E4D=O5 >?5D4F<< ?> 

GEFD4=5=<N 

>5=4DG65==OE 

=5<E?D46=>EF5=;  

3 6?4455F <5F>44<< 

6O5>D4 < ?D<<5=5=<O 

E?5E4D=>7> 

<=EFDG<5=F4, 6 

746<E<<>EF< >F 

6O?>?=O5<>= E?5E4D=>= 

>?5D4F<<; 

3 6?4455F <5F>44<< 

?D>6545=<O F5E=<G5E><E 

<7<5D5=<= < 

<E?>?L7>64=<O  

<7<5D<F5?L=>7> 

<=EFDG<5=F4; 

3 6O?>?=O5F >E=>6=O5 

>?5D4F<< ?> 45<>=F46G 

E<EF5<, 47D574F>6 < 

G7?>6 46F><>5<?5=;  

3 ?D<<5=O5F <5F>4O 

>5D45>F>< <4F5D<4?>6;  

3 ?D><76>4<F D4EG5F 

?4D4<5FD>6 

M?5>FD<G5E><E F5?5=;  

3 G<F45F 

><=5<4F<G5E><5 EE5<O;  

3 6O?>?=O5F >><??5>E 

D45>F ?> F5E=<G5E>><G 

>5E?G6<64=<N < 

D5<>=FG E<EF5<, G7?>6 < 

?D<5>D>6 46F><>5<?O. 

3 45<>=EFD<DG5F 7=4=<5 

->E?5DF=>5 

=45?N45=<5 < 

>F5=>4 =4 

?45>D4F>D=OE 

D45>F4E < 

?D4>F<G5E><E 

74=OF<OE, ?D< 

6O?>?=5=<< 

D45>F  

=4 GG55=>= < 

?D><76>4EF65=

=>= ?D4>F<>5  

->74<5= 

(>64?<D

<>4F<>=

=O=) 



 5 

<5F>4>6 6OO6?5=<O 

=5<E?D46=>EF5= E<EF5<, 

G7?>6  

< ?D<5>D>6 

46F><>5<?5=; 

3 7=45F 

F5E=>?>7<G5E>GN 

?>E?54>64F5?L=>EFL 

45<>=F464 E<EF5<, 

G7?>6  

< ?D<5>D>6 

46F><>5<?5=;  

3 E>5?N445F <5DO 

557>?4E=>EF< FDG44 ?D< 

6O?>?=5=<< 45<>=F464 

E<EF5<, 47D574F>6 < 

G7?>6 46F><>5<?5=; 

3 45<>=EFD<DG5F 7=4=<O 

>E=>6=OE ?>=OF<= < 

F5D<<=>6 ><=5<4F<>< 

<5E4=<7<>6, E5>D>G=OE 

54<=<F >5M57> < 

E?5F<4?L=>7> 

=47=4G5=<O;  

3 4=4?<7<DG5F >E=>6=O5 

?>=OF<O 7<4D>EF4F<>< < 

7<4D>4<=4<<><. 
�� 1.3. 

�O?>?=OFL 

>><??5>E 

<5D>?D<OF

<= ?> 

E5>D>5, 

D57G?<D>6

>5 < 

<E?OF4=<

N E<EF5<, 

47D574F>6 

< G7?>6 

46F><>5<?

5=, 4?O 

>F5=>< 

>4G5EF64 

6O?>?=5==

OE D45>F. 

��.01, 

��.04,  

��.07, 

��.09 

 

G<5FL: 
6O?>?=OFL >E=>6=O5 

>?5D4F<< F5E=<G5E>>7> 

>E<>FD4, 45<>=F464, 

E5>D>< < D57G?<D>6>< 

E<EF5<, 47D574F>6 < G7?>6 

46F><>5<?5=; 47D574F>6 < 

G7?>6 EFD><F5?L=OE <4L<= 

7=4FL: 
- >>=EFDG>F<N < 

GEFD>=EF6> 46F><>5<?5=, 

=47=4G5=<5 < 

674<<>45=EF6<5 >E=>6=OE 

G7?>6 < 45F4?5=;  

- <5F>4O 6OO6?5=<O < 

E?>E>5O GEFD4=5=<O 

=5<E?D46=>EF5=;  

- F5E=>?>7<G5E>GN 

?>E?54>64F5?L=>EFL 

F5E=<G5E>>7> >E<>FD4, 

45<>=F464, E5>D>< < 

D57G?<D>6>< E<EF5<, 

47D574F>6 < G7?>6 

46F><>5<?5=;  

- <5DO 557>?4E=>EF< ?D< 

6O?>?=5=<< D45>F 

3 6O?>?=O5F E5>D>G < 

D57G?<D>6>G E<EF5<, 

47D574F>6, G7?>6 < 

?D<5>D>6 46F><>5<?5=;  

3 D57G?<DG5F 

F5E=>?>7<G5E><5 747>DO  

6 D45>G<E E>?DO65=<OE; 

3 ?D>6>4<F <E?OF4=<O 

6>EEF4=>6?5==OE 

E<EF5<, 47D574F>6, 

G7?>6, ?D<5>D>6  

46F><>5<?5= 

3 6O?>?=O5F >E=>6=O5 

>?5D4F<< E5>D>< < 

D57G?<D>6>< E<EF5<, 

47D574F>6 G7?>6  

< ?D<5>D>6 

46F><>5<?5=; 

3 G<F45F 

><=5<4F<G5E><5, 

M?5>FD<G5E><5 < 

7<4D46?<G5E><5 EE5<O 

46F><>5<?5=; 

3 45<>=EFD<DG5F 7=4=<5 

<5F>4>6 GEFD4=5=<O 

=5<E?D46=>EF5= E<EF5<, 

47D574F>6, G7?>6 < 

?D<5>D>6 46F><>5<?5=;  

3 6O?>?=O5F 

F5E=>?>7<G5E><5 

->E?5DF=>5 

=45?N45=<5 < 

>F5=>4 =4 

?45>D4F>D=OE 

D45>F4E < 

?D4>F<G5E><E 

74=OF<OE, ?D< 

6O?>?=5=<< 

D45>F  

=4 GG55=>= < 

?D><76>4EF65=

=>= ?D4>F<>5 

 



 6 

>?5D4F<< E5>D><, 

D57G?<D>6>< < 

<E?OF4=<O E<EF5<, 

47D574F>6, G7?>6 < 

?D<5>D>6 46F><>5<?5=;  

3 E>5?N445F <5DO 

557>?4E=>EF< FDG44 ?D< 

6O?>?=5=<< D45>F ?D< 

E5>D>5, D57G?<D>6>5 < 

<E?OF4=<< E<EF5<, 

47D574F>6, G7?>6 < 

?D<5>D>6 46F><>5<?5=; 

3 45<>=EFD<DG5F 7=4=<5 

<5F>4>6 < 

F5E=>?>7<G5E><E 

>?5D4F<= ?> 

D57G?<D>64=<N 

F5E=>?>7<G5E><E 

747>D>6 6 E>?DO6U==OE 

45F4?OE < G7?4E;  

3 45<>=EFD<DG5F 7=4=<5 

<5F>4>6 < 

F5E=>?>7<G5E><E 

>?5D4F<= ?> 

?D>6545=<N <E?OF4=<= 

6>EEF4=>6?5==OE 

E<EF5<, 47D574F>6, G7?>6 

< ?D<5>D>6 46F><>5<?5= 

��. 01. �O5<D4FL E?>E>5O D5L5=<O 

7444G ?D>D5EE<>=4?L=>= 

45OF5?L=>EF< ?D<<5=<F5?L=> > 

D47?<G=O< >>=F5>EF4< 

2 >?D545?5=<5 F5?5=, 

7444G, 6O5>D4  

< E?>E>54 ?D<<5=5=<O 

<5F>4>6 < GE?>6<= 

D5L5=<O 

?D>D5EE<>=4?L=OE 

7444G; 

3 445>64F=4O >F5=>4 < 

E4<>>F5=>4 

MDD5>F<6=>EF< < 

>4G5EF64 6O?>?=5=<O 

?D>D5EE<>=4?L=OE 

7444G ?D<<5=<F5?L=> > 

D47?<G=O< >>=F5>EF4< 

�=F5D?D5F4F<O 

D57G?LF4F>6 

=45?N45=<O 74 

45OF5?L=>EFLN 

>5GG4NM<EEO 6 

?D>F5EE5 

>E6>5=<O 

>5D47>64F5?L=>

= ?D>7D4<<O;  

M>E?5DF=>5 

=45?N45=<5 < 

>F5=>4 =4 

?45>D4F>D=> 3 

?D4>F<G5E><E 

74=OF<OE, ?D< 

6O?>?=5=<< 

D45>F ?> 

GG55=>=  

< 

?D><76>4EF65=

=>= ?D4>F<>4< 

 

��.04 -DD5>F<6=> 

674<<>45=EF6>64FL < D45>F4FL 6 

>>??5>F<65 < >><4=45 

3 674<<>45=EF6<5 E 

>5GG4NM<<<EO, 

?D5?>4464F5?O<< < 

<4EF5D4<< 6 E>45 

>5GG5=<O, E 

DG>>6>4<F5?O<< 

GG55=>=  

< ?D><76>4EF65==>= 

?D4>F<>; 

3 >5>E=>64==>EFL 

4=4?<74 D45>FO 

>>??5>F<64 < G?5=>6 

>><4=4O (?>4G<=5==OE) 

��.07 %>45=EF6>64FL E>ED4=5=<N 

>>DG64NM5= ED54O, 

3 MDD5>F<6=>EFL 

E>5?N45=<O 



 7 

D5EGDE>E55D565=<N, ?D<<5=OFL 

7=4=<O >5 <7<5=5=<< >?<<4F4, 

?D<=F<?O 55D56?<6>7> 

?D><76>4EF64, MDD5>F<6=> 

45=EF6>64FL 6 GD576OG4==OE 

E<FG4F<OE. 

<5D>?D<OF<= < 

?D>F>>>?>6, 

45<>=EFD4F<O 7=4=<= ?> 

E>ED4=5=<N 

>>DG64NM5= ED54O, 

55D56?<6>7> 

?D><76>4EF64 < 

45=EF6<=  

6 GD576OG4==OE 

E<FG4F<OE 

��. 09 �>?L7>64FLEO 

?D>D5EE<>=4?L=>= 4>>G<5=F4F<5= =4 

7>EG44DEF65==><  

< <=>EFD4==>< O7O>4E 

3 MDD5>F<6=>EFL 

<E?>?L7>64=<O 

<=D>D<4F<>==>-

>><<G=<>4F<>==OE 

F5E=>?>7<= 6 

?D>D5EE<>=4?L=>= 

45OF5?L=>EF< E>7?4E=> 

D>D<<DG5<O< G<5=<O< 

< ?>?GG45<><G 

?D4>F<G5E>><G >?OFG 

 

 

 

2. �F5=>4 >E6>5=<O F5>D5F<G5E>>7> >GDE4 ?D>D5EE<>=4?L=>7> <>4G?O 

2.1. �><??5>F >F5=>G=OE ED54EF6 4?O >F5=>< >E6>5=<O  

�� 02. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F E<EF5<, G7?>6, ?D<5>D>6 

46F><>5<?5= ?> 4<EF<??<=5 ���.02.01. �>=EFDG>F<O, M>E??G4F4F<O < 

F5E=<G5E>>5 >5E?G6<64=<5 46F><>5<?5= 

�444=<O 4?O 6E>4=>7> >>=FD>?O 

�47=4G5=<5 6E>4=>7> >>=FD>?O E>EF><F 6 >?D545?5=<< E?>E>5=>EF5= 

>5GG4NM57>EO < 57> 7>F>6=>EF< > 6>E?D<OF<N < >E6>5=<N GG55=>7> 

<4F5D<4?4. �E>4=>= >>=FD>?L, ?D5464DONM<= >5GG5=<5, ?D>6>4<FEO 

?D5?>4464F5?5< 6 D>D<5 GEF=>7> >?D>E4 </<?< F5EF<D>64=<O 6 D4<>4E 

GG55=>= 4<EF<??<=O 

�>?D>EO 6E>4=>7> >>=FD>?O 

1.�4>GN D45>FG 6O?>?=O5F F5D<>EF4F 6 E<EF5<5 >E?4645=<O? 

4) �5D5>DO645F 4>EFG? 6<4>>EF< > D44<4F>DG ?D< ?D>7D565 E>?>4=>7> 

46<74F5?O ?>E?5 ?GE>4. 



 8 

5) �>4>?NG45F D44<4F>D ?>E?5 ?D>7D564 >E?4644NM5= 6<4>>EF< 4> 

>?D545?5==>= F5<?5D4FGDO. 

6) �5D5>DO645F D45>FG D44<4F>D4 < ?>4>?NG45F 6O?GE>=>= >?4?4= 

2. �?O G57> =5>5E>4<< >?4?4==O= <5E4=<7< 6 46<74F5?5? 

4) 4?O 6O>?NG5=<O 746<74=<O 

5) 4?O 6O>?NG5=<O 45F>=4F<< 

6) 4?O ??>F=>7> 74>DOF<O >?4?4=>6 

3.� >4>>< G7?5 E<5L<645FEO 55=7<= E 6>74GE>< 4?O ?>EFG??5=<O 6 >4<5DG 

E7>D4=<O? 

4) 6 <>DE>>< 

5) 6 >4D5ND4F>D=>< 

6) 6 >4<5D5 E7>D4=<O 

4.%>>?L>> E<EF5< 6 46<74F5?5? 

4) 2 

5) 3 

6) 4 

5.'F> E<47O645FEO ?>4 446?5=<5< 6 46<74F5?5? 

4) >>?5=G4FO= < D4E?D545?<F5?L=O= 64? 

5) F>?>4F5?< 747>D4E?D545?<F5?L=>7> <5E4=<7<4 

6)  ?>DL=56O5 ?4?LFO 

�?NG > 6E>4=><G >>=FD>?N 

  

1.4, 5; 2.6; 3.5; 4.6; 5.4. 

�F5=<64=<5 

5 ?D46<?L=OE >F65F>6 35 (>F?<G=>) 

4 ?D46<?L=OE >F65F>6 - 4 (E>D>L>) 

3 ?D46<?L=OE >F65F>6 -3 (G4>6?5F6>D<F5?L=>) 

1-2 ?D46<?L=OE >F65F>6 2 (=5G4>6?5F6>D<F5?L=>) 

2.2 �444=<O 4?O F5>GM57> >>=FD>?O 
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$4745? 7 1 'EFD>=EF6> 46F><>5<?5=, >EGM5EF6?5=<5 F5E=<G5E>>7> 

>5E?G6<64=<O < D5<>=F4 E<EF5<, G7?>6, 47D574F>6 <4L<=. 

&5<4 1. �EF>D<O 46F><>5<?5EFD>5=<O. �64?<D<>4F<O < >5M55 GEFD>=EF6> 

46F><>5<?O. 

1.�F65F<FL =4 6>?D>EO 

I.�F>, 6 >4>>< 7>4G ?>EFD><? FD5E>>?UE=O= FO74G? 

II. �F>, 6 >4>>< 7>4G E>744? ?5D6O= <>F>F<>? E 55=7<=>6O< 46<74F5?5<? 

III. � >4>>< 7>4G =4G4?>EL <=F5=E<6=>5 D476<F<5 >F5G5EF65==>7> 

46F><>5<?5EFD>5=<O ? 

4) �. �4=<?5D 6 1885 7>4G 

5) �.-�. �N=L> 1770 

6) 1924 7 

7) 1932 7 

2. �> E6>5<G =47=4G5=<N 46F><>5<?< D47?<G4NF: 

I �DG7>6O5                                   II �4EE46<DE><5               III %?5F<4?L=O5   

4) ?>64D=O5                                 4) 46F>5GEO                    4) F<EF5D=O 

5) ?57>>6O5                                  5) E4=<F4D=O5                5) ?D<F5?O < 

?>?G?D<F5?O 

6) 46F><>5<?<-FO74G<                 6) ?57>>6O5                     6) ?>?<6>G=O5 

7) E4<>E64?O                                7) D5DD<65D4F>DO          7) <4L<=O 

F5E?><>M< 

3. �4FL 6<4 < >?4EE 46F><>5<?O 

1. 8 F>== 

2. 3,5 ?<FD>6 

3. 7 < 

4. $4EL<DD>64FL <=45>EO 

1. �4<4� 53212 

2. �47 32054 

3. '�� 39094 



 10 

�?NG > >F65FG 

1. I -5; II -4; III -7. 

2. I 6, 7. II 4, 6 III 6, 7. 

3. 1. ?57>>6>= 3 >?4EE; 2. 7DG7>6>= 4 >?4EE; 3. 46F>5GE 3 >?4EE. 

4. 1. �4<E><= 46F><>5<?L=O= 746>4, 5 >?4EE4 >F 14 F>== 4> 20 F>==, 

7DG7>6>=, =><5D <>45?< 21, 2 <>4<D<>4F<<. 

2.�46?>6E><= 46F><>5<?L=O= 746>4, 3 >?4EE4, >F 6 4> 7,5 <5FD>6, 

=><5D <>45?< 05, 4 <>4<D<>4F<< 

3.'?LO=>6E><= 46F><>5<?L=O= 746>4, E?5F<4?L=O=, 09 <>45?<, 4 

<>4<D<>4F<<. 

�F5=<64=<5 

4 ?D46<?L=OE >F65F>6 35 (>F?<G=>) 

3 ?D46<?L=OE >F65F>6 - 4 (E>D>L>) 

2 ?D46<?L=OE >F65F>6 -3 (G4>6?5F6>D<F5?L=>) 

1 ?D46<?L=OE >F65F>6 2 (=5G4>6?5F6>D<F5?L=>) 

&5<4 7 2. �6<74F5?<, >E=>6O D45>FO < >>=EFDG>F<<. 

�4D<4=F 7 1 

1.'F> 6E>4<F 6 E>EF46 <5E4=<7<4 46<74F5?O:  

  1)�GE>4;   2)%<47><;   3)�<F4=<O;   4)�E?4645=<O;   5)�>DD5?OF<<; 

  6)�47>D4E?D545?5=<O;   7)�D<6>L<?=>-L4FG==O=   

  2. 'F> 6E>4<F 6 E>EF46 E<EF5<O 46<74F5?O:   

  1)�GE>4;   2)%<47><;   3)�<F4=<O;   4)�E?4645=<O;   5)�47>D4E?D545?5=<O; 

  6)�D<6>L<?=>-L4FG==O= 

  3.�5><5FD<G5E><5 ?4D4<5FDO >D<6>L<?=>-L4FG==>7> <5E4=<7<4 MF> 

  1)%>4 ?>DL=O;   2)$45>G<= >5N5<;   3)%F5?5=L E64F<O;   4)�?<=4 46<74F5?O; 

  5),<D<=4 46<74F5?O;   6)�5N5< >4<5DO E7>D4=<O;   7)�>?=O= >5N5< 

F<?<=4D4; 
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  4.$45>G<= >5N5< MF>: 

  1)�5N5< =44 ?>DL=5< ?D< 57> ?>?>65=<< 6 ��&; 

  2)�5N5< =44 ?>DL=5< ?D< 57> ?>?>65=<< 6 ��&; 

  3)%G<<4 ?>?=>7> >5N5<4 < >5N5<4 >4<5DO E7>D4=<O; 

  4)�5N5<, >E6>5>6445<O= ?>DL=5< ?D< 57> ?5D5<5M5=<< >F ��& > ��&. 

  5.%F5?5=L E64F<O MF>:  

  1)�><?D5EE<O; 

  2)�4>E<<4?L=>5 446?5=<5 6 F<?<=4D5; 

  3)�F=>L5=<5 D45>G57> >5N5<4 F<?<=4D4 > 57> ?>?=><G >5N5<G; 

  4)�F=>L5=<5 ?>?=>7> >5N5<4 F<?<=4D4 > >5N5<G >4<5DO E7>D4=<O; 

  5)�F=>L5=<5 >5N5<4 >4<5DO E7>D4=<O > D45>G5<G >5N5<G F<?<=4D4.  

  6.�E?< G<5=LL<FL >5N5< >4<5DO E7>D4=<O, F> G65?<G<FEO; 

  1)�>?=O= >5N5<;   2)$45>G<= >5N5<;   3)%F5?5=L E64F<O; 

  4)��� 46<74F5?O;   5)%>?>==>EFL 46<74F5?O > 45F>=4F<<. 

  7.�>?=OE >5>D>F>6 >>?5=G4F>7> 64?4 6 G5FOD5EF4>F=>< 46<74F5?5 74 1 F<>?: 

  4) 1; b) 2; E) 3; d) 4. 

  8.&<?O 46F><>5<?L=OE 46<74F5?5=: 

  1)&5??>6>=; 2)�5FDO=>=; 3)�>DL=56>=; 4)$54>F<6=O=; 5)�6GEF4>F=O=; 

  6)-?5>FD<G5E><=; 7)�47>FGD5<==O=; 8)'5FOD5EF4>F=O=; 9)�=5L=57> 

E7>D4=<O; 

  10)�=GFD5==57> E7>D4=<O 

  9.�>?=O= >5N5< F<?<=4D4 MF>: 

  1)�5N5< =44 ?>DL=5< ?D< 57> ?>?>65=<< 6 ��&; 
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  2)�5N5< =44 ?>DL=5< ?D< 57> ?>?>65=<< 6 ��&; 

  3)%G<<4 ?>?=>7> >5N5<4 < >5N5<4 >4<5DO E7>D4=<O; 

  4)%G<<4 D45>G57> >5N5<4 < >5N5<4 >4<5DO E7>D4=<O; 

  5)�5N5<, >E6>5>6445<O= ?>DL=5< ?D< 57> ?5D5<5M5=<< >F ��& > ��&. 

  10.�6<74F5?L 3 MF>: 

  1) - 6; 2) - D45>FG; 3) - <4L<=4; 4) - F>??<64; 5) - M=5D7<N; 

  6) - <5E4=<G5E>GN; 7) - ?D5>5D47GNM4O; 8) - F5D<>E<<<G5E>GN. 

�4D<4=F 7 2 

  1. $45>G<= F<>? 3 MF>:  

  1) - ?D5>5D47G5FEO; 2) - 6 D57G?LF4F5 >>F>DOE; 3) - DO4 ?>E?54>64F5?L=OE; 

  4) - 6 <5E4=<G5E>GN D45>FG; 5) - F5??>64O M=5D7<O F>??<64; 

  6) - ?5D<>4<G5E>< ?>6F>DONM<EEO ?D>F5EE>6. 

  2.�5N5< >4<5DO E7>D4=<O MF>:   

  1)$47=<F4 <564G ?>?=O< < D45>G<< >5N5<4<<; 

  2)�5N5< =44 ?>DL=5< ?D< 57> ?>?>65=<< 6 ��&; 

  3)�5N5< =44 ?>DL=5< ?D< 57> ?>?>65=<< 6 ��&; 

  4)%G<<4 ?>?=>7> >5N5<4 < >5N5<4 >4<5DO E7>D4=<O; 

  5)�5N5<, >E6>5>6445<O= ?>DL=5< ?D< 57> ?5D5<5M5=<< >F ��& > ��&. 

  3.�<FD46 46<74F5?O MF>:  

  1)�<>>EFL E<EF5<O E<47><;   2)�<>>EFL E<EF5<O >E?4645=<O; 

  3)$4EE>4 F>??<64 6 ?<FD4E =4 100 ><;   4)%G<<4 ?>?=OE >5N5<>6 6E5E 

F<?<=4D>6; 

  5)%G<<4 D45>G<E >5N5<>6 6E5E F<?<=4D>6. 
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  4.&4>FO D45>G57> F<>?4:   

  1)�?GE>;    2)%64F<5;   3)�O?GE>;    4)%7>D4=<5;   5)$4EL<D5=<5. 

  5.$45>F4 >D<6>L<?=>-L4FG==>7> <5E4=<7<4: 

  1) - L4FG=;    2) - ?>DL5=L;    3) - <4E>6<>;    4) - >>?5=G4FO= 64?; 

  5) - ?>DL=56>= ?4?5F.    6) - �46?5=<5 6 F<?<=4D5: 

  � >>=F5 F4>F4                                       �=4G5=<5, ��4 

  1)�?GE>4;                                             �. 0,9 3 1,5. 

  2)%64F<O;                                            B. 0,3 3 0,4. 

  3)�O?GE>4;                                          %. 0,07 3 0,09. 

  4)$4EL<D5=<O.                                    D. 0 ,11 3 0,12. 

  �F65F: 1)     ; 2)      ; 3)     ; 4)     ; 

  7.&5<?5D4FGD4 6 F<?<=4D5: 

  � >>=F5 F4>F4                                    �=4G5=<5, ç% 

  1)�?GE>4;                                           A. 75 3 125. 

  2)%64F<O;                                           B. 270 3 480. 

  3)�O?GE>4;                                         C. 600 3 900. 

  4)$4EL<D5=<O.                                   D. 900 3 1200. 

  �F65F: 1)     ; 2)     ; 3)      ; 4)      ; 

  8.� 4<75?L=>< 46<74F5?5 E6<<45FEO: 

  1)�>74GE;     2)�>DNG4O E<5EL;    3)$45>G4O E<5EL.    

  � >>=F5 E64F<O ?>445FEO: 

  4)�>74GE;    5)&>??<6>.  

  %<5EL 6>E??4<5=O5FEO: 
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  6)�F <E>DO;    7)�F E64F<O. 

  9.� >4D5ND4F>D=>< 46<74F5?5 E6<<45FEO: 

  1)�>74GE;    2)�>DNG4O E<5EL;    3)$45>G4O E<5EL. 

  %<5EL 6>E??4<5=O5FEO: 

  4)�F <E>DO;    5)�F E64F<O. 

  10.�>DO4>> D45>FO DO4=>7> 4 3 F<?<=4D>6>7> 46<74F5?O: 

  1) 1 3 2 3 3 3 4;   2) 1 3 3 3 4 3 2;   3) 1 3 2 3 4 3 3;   4) 1 3 4 3 3 3 2;  5) 1 3 4 3 2 

3 3; 

 

&5<4 3.  �5E4=<7<O 46<74F5?O(�$�). 

�4D<4=F 7 1 

1.�5E4=<7< 747>D4E?D545?5=<O (�$�) ?D54=47=4G5= 4?O___________ 6?GE>4 

E65657> 74DO44 < 6O?GE>4 >FD45>F46L<E 747>6. 

1)�>DNG5= E<5E<;  2)%6>56D5<5==>7>;   3),F4=7<; 

2.�?4?4=O >F>DO64NFEO: 

1)$OG47><; 2)�DG6<=>=; 3)�>D><OE?><; 4)�46?5=<5< 7474; 5)�46?5=<5 <4E?4; 

6)$47DO65=<5< 6 F<?<=4D5; 7)�G?4G>>< D4E?D545?<F5?L=>7> 64?4. 

3.�5D544F>G=O5 45F4?< �$�: 

1)&5?L;2)�4?O;3)$5<5=L;4)$OG47<;5),F4=7<;6)�?4?4=O;7),5EF5D=<; 8)�DG6<=O; 

9)&>?>4F5?<; 10)�>D><OE?4; 11)�4<>< ?DG6<=; 12)�4?D46?ONM<5 6FG?><. 

4.%>EF>6=O5 G4EF< D45>FO �$�: 

1 L><6; 2) >?4?4=; 3) LF4=74; 4) >G?4G>>; 5) F>?>4F5?L; 6) >>D><OE?>; 

7) D57G?<D>6>G=O= 5>?F 8) �4<>< ?DG6<=; 9) &5?L. 

5.,5EF5D=O ?D<6>4<F 6 45=EF6<5: 

1)�4E?O=O= =4E>E; 2)&>??<6=O= =4E>E; 3)$4E?D545?<F5?L=O= 64?; 

4)�D5DO64F5?L 3 D4E?D545?<F5?L 746<74=<O. 

6.�D5??5=<5 ?DG6<= =4 >?4?4=5 4>EF<745FEO 74 EG5F: 
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 1)�>?F4; 2)�FG?><; 3)%GE4D5=; 4)&4D5?><; )�>D><OE?4. 

7.'65?<G5==O= F5??>6>= 747>D 6 >?4?4=4E ?D<6>4<F >: 

1)%FG>G >?4?4=>6; 2)'?GGL5=<N 747>>5<5=4; 3)'EG4L5=<N 747>>5<5=4; 

4)'65?<G5=<N <>M=>EF<; 5)'<5=LL5=<N <>M=>EF<; 6)�5??>F=><G 74>DOF<N 

>?4?4=>6; 7)�D>7>D4=<N >D><>> 7>?>6>> >?4?4=>6. 

8.�<4D46?<G5E><5 >><?5=E4F>DO F5??>6OE 747>D>6: 

1)&D55G5F D57G?<D>6><; 2)�5 FD55GNF D57G?<D>6><; 3)$45>F4NF =4 ?N5>< <4E?4; 

4)$45>F4NF >F 446?5=<O <4E?4; 5)&D55GNF E<=F5F<G5E>>7> <4E?4; 

6)�6F><4F<G5E>< «6O5<D4NF» 747>D ?D< ?GE>5 46<74F5?O. 

9.'7>? D47O 747>D4E?D545?5=<O =47O645FEO 3 >?4?4=>6: 

1)�5>4>><; 2)�>?F><; 3)�5D5>DOF<5<; 4)�4L<=>=; 5)�O?GE>><; 6)�?GE>><; 

10.�>OE>> E54?4 >?4?4=4 <<55F ?5D5<5==>5 E5G5=<5 4?O: 

1)'?GGL5=<5 747>>5<5=4; 2)�4456=>7> G??>F=5=<O; 3)%=<65=<5 EFG>4 >?4?4=4; 

4)%=<65=<5 =474D4 >5D47>64=<5; 5)�55E?5G5=<5 ?D>6>D4G<64O >?4?4=4; 

�4D<4=F 7 2 

1.$45>G<5 ?>65DE=>EF< D4E?D545?<F5?L=>7> 64?4: 

1),?<DGNF; 2)�>?<DGNF; 3)%D><<DGNF; 4)�4>4?<64NF; 5)�>D4L<64NF; 

6)&5<5=F<DGNF; 7)�>465D74NF >F?GE>G. 

2.�5F4?< ?D<6>44 �$�: 

1)&5?L; 2)�4?O; 3)$5<5=L; 4)$OG47<; 5),F4=7<; 6)�?4?4=O; 7),5EF5D=<;  

8)�DG6<=O; 9)&>?>4F5?<; 10)�>D><OE?4; 11)�4<>< ?DG6<=; 12)�4?D46?ONM<5 6FG?><

3.�5F4?< >?4?4==>= 7DG??O: 

1)&5?L; 2)�4?O; 3)$5<5=L; 4)$OG47<; 5),F4=7<; 6)�?4?4=O; 7),5EF5D=<; 

8)�DG6<=O; 9)&>?>4F5?<; 10)�>D><OE?4; 11)�4<>< ?DG6<=; 

12)�4?D46?ONM<5 6FG?><. 

4.%4?L=<>: 

1)%<47O645F EF5D65=L >?4?4=4; 2)$<>E<DG5F ?DG6<=O;  

3)�D54>F6D4M45F ?D>DO6 7474 <7 >4<5DO E7>D4=<O; 

4)�D54>F6D4M45F ?D>=<>=>65=<5 <4E?4 6 >4<5DG E7>D4=<O. 
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5.$?4=5F : 

1)�D5?<FEO > L5EF5D=5; 2)�D5?<FEO > 5?>>G F<?<=4D>6; 

3)$<>E<DG5F 64? >F >E56>7> E<5M5=<O; 4)�<55F L?<D>64==GN ?>65DE=>EFL. 

6.&5??>6>= 747>D 6 >?4?4==>< <5E4=<7<5 D57G?<DG5FEO: 

1)�>?F><; 2)&>?>4F5?5<; 3)�4 7>DOG5< 46<74F5?5; 4)�4 E>?>4=>< 46<74F5?5; 

5)�564G =>E>>< >>D><OE?4 < EF5D6=5< >?4?4=4; 

6)�564G 5>?F><  < >>D><OE?>< . 

7.�54>EF4F>G=O= F5??>6>= 747>D 6 >?4?4=4E ?D<6>4<F >: 

1)%FG>G >?4?4=>6; 2)'?GGL5=<N 747>>5<5=4; 3)'EG4L5=<N 747>>5<5=4; 

4)�5??>F=><G 74>DOF<N >?4?4=>6; 5)�D>7>D4=<N >D><>> 7>?>6>> >?4?4=>6. 

8.�><5=FO >F>DOF<O < 74>DOF<O >?4?4=>6. �OD465==O5 6 G7?4E ?>6>D>F4 

>>?5=G4F>7> 64?4 =47O64NFEO 3 747>D4E?D545?5=<5< : 

1)�>?F><; 2)&>?>4F5?5<; 3)$474<<; 4)%FG?<F4; 5)%F45<?<74F>D; 6)$OG47<; 

9.$47O 747>D4E?D545?5=<O 746<EOF >F: 

1)�<4<5FDO 7>?>6>> >?4?4=>6; 2)�?<=O EF5D6=5= >?4?4=>6; 

3)�5?<G<=O F5??>6>7> 747>D4 6 >?4?4=4E;  

4)�D>D<?O >G?4G>>6 D4E?D545?<F5?L=>7> 64?4; 

5)�74<<=>5 D4E?>?>65=<5 >G?4G>>6 D4E?D545?<F5?L=>7> 64?4; 

10.�4F5D<4? <77>F>6?5=<O >?4?4=>6: 

1)%5DO= GG7G=;2)�<7>>G7?5D>4<EF4O EF4?L;3)%D><<EF4O ED54=5G7?5D>4<EF4O EF4?L; 

4)�4G5EF65==>5 >>=EFDG>F<>==4O EF4?L;5)%D><>=<>5?564O ED54=5G7?5D>4<EF4O EF4?L

�5E4=<7<O 46<74F5?O(�,�) 

�4D<4=F 7 1 

1. �,� ?D54=47=4G5= 4?O ?D5>5D47>64=<O ?>EFG?4F5?L=>7> 46<65=<O 

L4FG=4 6>:   

  1)�D4M4F5?L=>5 46<65=<5 64?4;  2)�5D5<5M5=<5 EFD5?>< G>474F5?O; 

  3)� <EG57=>65=<5 <47=<F=>7> ?>?O; 

2. ,4FG= E>G?5=5= E ?>DL=5< ?D< ?><>M< ?>DL=56>7>: 

  1)%5D>7> GG7G=4;  2)�>?>6>>= 5?>>4;  3)�4?LF4; 

3.�4F5D<4? <77>F>6?5=<O 7>?>6>> 5?>>4 F<?<=4D>6: 
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  1)%5DO= GG7G=;  2)'7?5D>4<EF4O EF4?L;  3)�57<D>64==4O EF4?L; 

  4)�?N<<=<56O= E??46;  5)�OE>>>?D>G=4O ?57<D>64==4O EF4?L. 

4.�4F5D<4? <77>F>6?5=<O L4FG=>6:  

  1)%5DO= GG7G=;  2)'7?5D>4<EF4O EF4?L;  3)�57<D>64==4O EF4?L; 

  4)�?N<<=<56O= E??46;  5)�OE>>>?D>G=4O ?57<D>64==4O EF4?L. 

5.�574>E46: 

  1)'??>F=5=<5 >4<5DO E7>D4=<O;  2)�7D4=<G5=<5 G4EF>FO 6D4M5=<O; 

  3)%<5M5=<5 >E< ?>DL=56>7> ?4?LF4 >F=>E<F5?L=> >E< F<?<=4D4 

        % F5?LN <E>?NG5=<O: 

        4)$47=>E4 46<74F5?O;  5)�D>DO64 747>6 6 >4DF5D; 

        6)%FG>4 ?>DL=O > EF5=>G F<?<=4D4. 

6.�<?L74 F<?<=4D4 <>>D>7> F<?4, F4> >4> >=4: 

  1)�>=F4>F<DG5F E F>??<6><;  2)�<O645FEO 7>DOG<<< 7474<<; 

  3)%<47O645FEO <>F>D=O< <4E?><;  4)�4?D5EE>6O645FEO 6 5?>> E> E<47>>=; 

  5)�<O645FEO >E?4644NM5= 6<4>>EFL. 

7.�47>6O= 45F4?LN �,� < 6E57> 46<74F5?O O6?O5FEO: 

  1),4FG=;  2)�4E>6<>;  3)�>?>6>4 5?>>4;  4)�>?5=G4FO= 64?;  5)�?>> 

F<?<=4D>6.  

8.�>46<6=O5 45F4?< �,�: 

  1),4FG=; 2)�4E>6<>; 3)�?4?4=O; 4)�>DL5=L; 5)�>?>6>4 5?>>4; 6)�>44>= 

>4DF5D4; 

  7)�?>> F<?<=4D>6;  8)�>?5=G4FO= 64?;  9)�>DL=56>= ?4?5F; 

  10)�DG6<=O >?4?4=>6;  11)�>DL=56O5 >>?LF4;  12)�D>>?44>4 7>?>6>< 

5?>>4. 

9.�5?>4656=O5 45F4?< �,�:  

  1),4FG=; 2)�4E>6<>; 3)�?4?4=O; 4)�>DL5=L; 5)�>?>6>4 5?>>4; 6)�>44>= 

>4DF5D4;   

  7)�?>> F<?<=4D>6;  8)�>?5=G4FO= 64?;  9)�>DL=56>= ?4?5F; 

  10)�DG6<=O >?4?4=>6;  11)�>DL=56O5 >>?LF4;  12)�D>>?44>4 7>?>6>< 

5?>>4.  
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10.�D>D57< =4 N5>5 ?>DL=O 4?O: 

  1)%=<65=<O =47D564;  2)'<5=LL5=<O <4EEO ?>DL=O; 

  3)'65?<G5=<O ?D>G=>EF< ?>DL=O;  4)�><?5=E4F<< F5??>6>7> D4EL<D5=<O; 

  5)�F6>44 <4E?4 E> EF5=>> F<?<=4D4. 

�4D<4=F 7 2 

1.�4EEO D47?<G=OE ?>DL=5= 46<74F5?O =5 4>?6=O >F?<G4FLEO 5>?55 G5< =4: 

  1)1 3 2 7;  2)2 3 8 7;  3)10 3 15 7;  4)20 3 30 7.  

2.�4<>< FD5E >><?D5EE<>==OE >>?5F D4E?>?474NF ?>4 G7?>< 4DG7 > 4DG7G: 

  1)45ç;  2)90ç;  3)100ç;  4)120ç;  5)180ç;  6)270ç. 

3.%?>E>5O G??>F=5=<O 7<?L7O F<?<=4D4: 

  1)�D>>?44>>= 7>?>6>< 5?>>4;  2)�E55EF>6O< L=GD><;  3)$57<=>6O<< 

>>?LF4<<; 

  4)%4<>?>46<<=O< E4?L=<>><. 

4.�4F5D<4? 4=F<DD<>F<>==>7> E??464 6>?44OL5= >>?5=G4F>7> 64?4; 

  1)%F4?L;  2)�54L;  3)%6<=F>6<EF4O 5D>=74;  4)�?>6O=<EFO= 4?N<<=<56O= 

E??46.  

5. ,5=>< >>?5=G4F>7> 64?4: 

  1),?<DGNF;  2)�>?<DGNF;  3)�7>F<DGNF;  4)%D><<DGNF;  5)&5<5=F<DGNF; 

  6)�4>4?<64NF &�';  7)�>465D74NF >F?GE>G. 

        % F5?LN: 

        8)�D<44=<O F>64D=>7> 6<44;  9)�>65L5=<O 65EF>>EF< 64?4; 

       10)�>65L5=<O <7=>E>EF>=>>EF<.  

6.�F65DEF<O 6 >>?5=G4F>< 64?G 6O?>?=ONFEO 4?O ?>44G< > L4FG==O< 

?>4L<?=<>4<: 

  1)�4E?4;  2)�>74GE4;  3)�E?44<F5?O;  4)�>DNG5= E<5E<;  5)�4DF5D=OE 

747>6: 

  6)%6<65==>7> 7474. 

7.�>?5=G4FO= 64? D<>E<DG5FEO >F >E56>7> E<5L5=<O: 

  1)%F>?>D=>= L4=5>=;  2)'?>D=O<< >>?LF4<<;  3)'?>D=O<< 6>?44OL4<<; 

  4)'?>D=O<< L4D<>>?>4L<?=<>4<<; 
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       %> EF>D>=O: 

       5)&5=FD4?L=>= G4EF<;  6)�>E>4 <?< E6>EF>6<>4. 

8.�4F5D<4? 5?>>4 F<?<=4D>6: 

  1)%F4?L;  2)'G7G=;  3)&<F4=;  4)�?N<<=<56O= E??46. 

9.&5<?5D4FGD4 (çC) =47D564 ?>DL=O 6 <4E?5 ?D< 57> E5>D>5 E ?4?LF5<:  

  1)45 3 50;  2)80 3 100;  3)120 3 150;  4)180 3 200. 

10.�4E?>EN5<=>5 >>?LF> E?G6<F 4?O: 

  1)'?D>G5=<O ?>DL=O;  2)%=<65=<O 45F>=4F<<;  3)'??>F=5=<O F<?<=4D4; 

  4)'<5=LL5=<O <4EEO ?>DL=O;  5)%=OF<O <7?<L>4 <4E?4 E> EF5=>>; 

  6)'<5=LL5=<O D4EE>44 <4E?4 =4 G74D. 

21. �>?5=G4FO5 64?O <77>F46?<64NF <7:  

  1)%5D>7> GG7G=4;  2)�57<D>64==>= EF4?<;  3)�<7>>G7?5D>4<EF>= EF4?<; 

  4)%D54=5G7?5D>4<EF>= EF4?<;  5)�>4<D<F<D>64==>7> GG7G=4; 

        �5F>4><: 

        6)�<FLO;  7)%64D><;  8),F4<?>6><. 

22. $>D<4 >>?5=G4F>7> 64?4 >?D545?O5FEO: 

  1)'<E?>< F<?<=4D>6;  2)&4>F=>EFLN 46<74F5?O;  3)%?>E>5>< 

6>E??4<5=5=<O; 

  4)�4F5D<4?>< <77>F>6?5=<O;  5)$4E?>?>65=<5 F<?<=4D>6; 

  6)%?>E>5>< E<5E5>5D47>64=<O;  7)�>DO4>>< D45>FO F<?<=4D>6; 

  8)�4>E<<4?L=>= <>M=>EFLN 46<74F5?O. 

&5<4 4. %<EF5<4 >E?4645=<O 46<74F5?O. 

�4D<4=F 7 1 

1.&<? E<EF5<O >E?4645=<O 46<74F5?O ��� 3 2107; 

1)�F>DOF4O;  2)�4>DOF4O;  3)�>74GL=4O;  4)�<4>>EF=4O;  5)�D<=G4<F5?L=4O;  

6)&5D<>E<D>==4O.  

2.�E?4644NM4O 6<4>>EFL: 

  1)�>44;  2)�4E?>;  3)&>E>?;  4)&>D<>7=4O 6<4>>EFL. 

3.&5D<>EF4F E?G6<F 4?O: 
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  1)%=<65=<O 45F>=4F<<;  2)'65?<G5=<O >><?D5EE<<;  3)'E>>D5==>7> 

?D>7D564 46<74F5?O; 

  4)�D>7D564 46<74F5?O ?5D54 74?GE>><. 

           �= ?D>?GE>45F 6>4G 6 D44<4F>D: 

           5)�D<=G4<F5?L=>;  6)�6F><4F<G5E>< ?> <5D5 ?D>7D564 46<74F5?O; 

4.%>EF46 F>E>?4: 

  1)-F<?>6O= E?<DF;  2)�5F<?>6O= E?<DF;  3)�>4>?D>6>4=4O 6>44;  

4)�<EF<??<D>64==4O 6>44; 

  5)-F<?5=7?<>>?56O= E?<DF;  6)�=F<>>DD>7<>==O5 ?D<E44><. 

5.&>E>?: 

  1)�576D545=;  2)/4>6<F;  3)�5EF65F5=;  4)�>D4L<645FEO. 

6.&>E>? ?D< =47D564=<<: 

  1)$4EL<DO5FEO;  2)%6<<45FEO;  3)%>ED4=O5F >5N5<. 

     �F6>4<F F5??> >F 46<74F5?O: 

  4)�GGL5 6>4O;  5)%G65 6>4O. 

7.�D<6>4 65=F<?OF>D4 46<74F5?O �4<�� 3 740; 

  1)&5?=>=;  2)$5<5==O=;  3)-?5>FD<G5E><=;  4),5EF5D5=G4FO=;  

5)�<4D46?<G5E><=; 

  6)-?5>FD><47=<F=O=. 

8.�D<6>4 65=F<?OF>D4 46<74F5?O �4<�� 3 740 57> D56<<O D45>FO: 

  1)�F>?NG5=;  2)�6F><4F<G5E><=;  3)�D<=G4<F5?L=O=;  4)�>6F>D=> 3 

>D4F>>6D5<5==O=. 

9.�7<5=ONF ?>F>> 6>74GE4 G5D57 D44<4F>D E ?><>MLN:  

  1)�4?N7<;  2)&5D<>EF4F;  3)�<4>>EF=>7> =4E>E4;  4)$G54L>< >E?4645=<O.  

10.�4D>6>= >?4?4= ?D>5>< D44<4F>D4: 

  1)�>4=<<45F F5<?5D4FGDG ><?5=<O;  2)%=<645F F5<?5D4FGDG ><?5=<O; 
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  3)�>445D6<645F 4F<>ED5D=>5 446?5=<5 6 E<EF5<5;  4)�O?GE>45F ?4D 6 

4F<>ED5DG; 

  5)�?GE>45F 6>74GE 6 D44<4F>D. 

�4D<4=F 7 2 

1.�>74GL=O= >?4?4= ?D>5>< D44<4F>D4:  

  1)�>4=<<45F F5<?5D4FGDG ><?5=<O;  2)%=<645F F5<?5D4FGDG ><?5=<O; 

  3)�>445D6<645F 4F<>ED5D=>5 446?5=<5 6 E<EF5<5;  4)�O?GE>45F ?4D 6 

4F<>ED5DG; 

  5)�?GE>45F 6>74GE 6 D44<4F>D. 

2.�46?5=<5 >F>DOF<O ?4D>6>7> >?4?4=4, >�4; 

  1)1 3 13;  2)145 3 160;  3)900 3 1000. 

3.�46?5=<5 >F>DOF<O 6>74GL=>7> >?4?4=4, >�4;  

  1) 1 3 13;  2)145 3 160;  3)900 3 1000.  

4.&5<?5D4FGD4 ><?5=<O 6>4O 6 74>DOF>= E<EF5<5, çC; 

  1)100;  2)108 3 119;  3)130 3 140; 

5.�4?>?=<F5?L F5D<>EF4F>6: 

  1)�G5?<=O= 6>E>;  2)�5DFO=>= 6>E> (F5D57<=);  3)-F<?>6O= E?<DF;  

4)�D>?<?>6O= E?<DF.  

6.�D4=O E?<64 >E?4644NM5= 6<4>>EF< GEF4=46?<64NFEO =4: 

  1)�4E>E5;  2)$44<4F>D5;  3)�>?>6>5 5?>>4;  4)�?>>5 F<?<=4D>6;  5)�>F?5 

?GE>>6>7> ?>4>7D564F5?O. 

7.�>=FD>?L=4O E?<D4?L E65G< =4>4?4: 

  4) 10;  b) 13;  c) 16;  d) 22. 

8.$4EL<D<F5?L=O= 54G>> E?G6<F 4?O: 

  1)�>445D64=<O <75OF>G=>7> 446?5=<O 6 E<EF5<5;  2)�D<5<4 F>E>?4 ?D< 57> 

D4EL<D5=<O; 

  3)�>=FD>?O GD>6=O >E?4644NM5= 6<4>>EF< 6 E<EF5<5;  4)'65?<G5=<O 

?D><76>4<F5?L=>EF< =4E>E4. 
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9.�4E>E=O= 47D574F ?>4>7D564F5?O 4<75?O 6>?NG45F: 

  1)-?5>FD>46<74F5?L:  2)�<4>>EF=>= =4E>E;  3)&>??<6=O= =4E>E;  

4)�5=F<?OF>D4; 

  5)�4E?O=O= =4E>E;  6)$54G>F>D. 

10.�46?5=<5 >F>DOF<O ?4D>6>7> >?4?4=4, >�4; 

  1)1 3 13;  2)145 3 160;  3)900 3 1000. 

&5<4 5.  %<EF5<4 E<47>< 46<74F5?5=. 

1..%?>E>5O E<47O64=<O: 

1)%4<>F5>><;  2)�>4 446?5=<5<;  3)'5D57 <4E?5=>G;  4)�>4 D47DO65=<5<; 

5)%4<>?>4N5<><; 6)$475DO77<64=<5<; 7)�>4O=O< FG<4=><; 8)�4E?O=O< 

FG<4=><. 

2.$54G>F<>==O= >?4?4= <4E?O=>7> =4E>E4: 

  1)$<?LFDG5F <4E?>;  2)'65?<G<645F 446?5=<5 6 E<EF5<5; 

  3)�7D4=<G<645F 446?5=<5 6 E<EF5<5;  4)�F>DO645FEO ?D< GD57<5D=>< 

446?5=<<.  

3.$47<5D >FE564 G4EF<F D<?LFD4<< F>=>>= >G<EF><, g  <><: 

  1)70;  2)40;  3)1 3 2;  4)20 3 40. 

4.$47<5D >FE564 G4EF<F D<?LFD4<< 7DG5>= >G<EF><, g<><: 

1)70;  2)40;  3)1 3 2;  4)20 3 40. 

5.�D<6>4 F5=FD>556=OE D<?LFD>6: 

  1)-?5>FD>==O=;  2)�5E4=<G5E><=;  3)-?5>FD<G5E><=; 

  4)�=56<4F<G5E><=;  5)�<4D46?<G5E><=; 

6.�>EF><=EF64 F5=FD>556=OE D<?LFD>6:  

  1)�>?7>65G=>EFL;  2)&>=>>EFL >FE564;  3)�<7>4O EF><<>EFL; 

  4)�>EF>O==4O ?D>?GE>=4O E?>E>5=>EFL; 
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  5)�5746<E<<>EFL >F G4EF>FO 6D4M5=<O >>?5=G4F>7> 64?4. 

7. �54>EF4F>< F5=FD>556=OE D<?LFD>6: 

  1)�OE>>4O FDG4>5<>>EFL >5E?G6<64=<O: 

  2)�<7>4O D<?LFDGNM4O E?>E>5=>EFL; 

  3)�46<E<<>EFL D<?LFD4F<< >F 6O7>>EF< <4E?4; 

  4)�46<E<<>EFL D<?LFD4F<< >F F5<?5D4FGDO <4E?4; 

  5)�46<E<<>EFL >F G4EF>FO 6D4M5=<O >>?5=G4F>7> 64?4. 

8.�5D6<G=GN D<?LFD4F<N <4E?> ?D>E>4<F 6: 

  1)�4E?>745>D=<>5;  2)$<?LFD5 F>=>>= >G<EF<;  3)$<?LFD5 7DG5>= >G<EF<; 

  4)�4E?O=>= =4E>E5;  5)�4E?>G?46?<64F5?5;  6)$54G>F<>==>< >?4?4=5. 

10.$<?LFDO 

�D<7=4>: 

  1)�> <5EFG GEF4=>6><;  2)�> EF5?5=< >G<EF><;  3)�> E?>E>5G >G<EF><. 

�4D<4=F 7 2 

1.&<?O D<?LFD>6: 

  1)A.-5?56O5.  2)B.�5N5<=O5.  3)C.&5=FD>556=O5.  4)D.�DG5>= >G<EF><. 

  5)E.&>=>>= >G<EF><.  6)F.�>65DE=>EF=O5.  7)G.�>?=>?>F>G=O5. 

  8)H.�5?>?=>?>F>G=O5. 

2.%<47O64=<5 45F4?5=: 

  1)&>?>4F5?< �$�;  2)�>DL=56O5 ?4?LFO;  3)�?4?4==4O 7DG??4 �$�; 

  4)%F5=>< F<?<=4D>6 �,�;  5)�>D5==O5 ?>4L<?=<><;  6),4FG==O5 

?>4L<?=<><; 

  7)�G?4G>< D4E?D545?<F5?L=>7> 64?4. 
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3.%?>E>5 E<47O64=<O 45F4?5=: 

  1)A.%4<>F5>><;  2)B.�>4 446?5=<5<;  3)C.�><5<=<D>64==>; 

  4)D.$475DO77<64=<5<;  5)E.�4E?O=O< FG<4=><. 

4.�>?=>?>F>G=O< D<?LFD GEF4=46?<645FEO: 

1)�4D4??5?L=> 7?46=>= <47<EFD4?<;2)�>E?54>64F5?L=> 7?46=>= <47<EFD4?<. 

    �D>?GE>45F: 

    1)10 3 15% <4E?4;  2)45 3 50% <4E?4;  3)100% <4E?4 7?46=>= <47<EFD4?<. 

5.�5D5?GE>=>= >?4?4= <4E?O=>7> D<?LFD4 E?G6<F 4?O: 

  1)%4<>>G<EF>< D<?LFD4;  2)�5D5?GE>4 <4E?4 ?> 5>?LL><G >DG7G; 

  3)�5D5?GE>4 <4E?4 6 >5D4F=GN EF>D>=G; 

  4)�5D5?GE>4 =5D<?LFD>64==>7> <4E?4 6 E?GG45 74E>D5=<O D<?LFD4; 

  5)�54>?GM5=<O <4E?O=>7> 7>?>44=<O 6 E?GG45 74E>D5=<O D<?LFD4.  

6.�D5=46=O= >?4?4= D<?LFD4 E?G6<F 4?O: 

  1)�5D5?GE>4 <4E?4 ?D< 74E>D5=<< D<?LFD4; 

  2)�>445D64=<O =>D<4?L=>7> 446?5=<O 6 E<EF5<5; 

  3)�4?>?=5=<O D<?LFD4 <4E?> ?5D54 ?GE>>< 46<74F5?O; 

  4)�D54>F6D4M5=<O E?<64 <4E?4 <7 D<?LFD4 ?D< =5D45>F4NM5< 46<74F5?5. 

7.%<7=4?<74F>D =4 >>D?GE5 ?>?=>?>F>G=>7> <4E?O=>7> D<?LFD4 �4<��: 

  $547<DG5F =4: 

  1)�46?5=<5 <4E?4;  2)�4G5EF6> <4E?4;  3)'4EF>FG 6D4M5=<O;  4)&5<?5D4FGDG 

<4E?4.  

8.%<7=4?<74F>D =4 >>D?GE5 ?>?=>?>F>G=>7> <4E?O=>7> D<?LFD4 �4<��: 

  %<7=4?<7<DG5F >5: 
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  1)'F5G>5 <4E?4;  2)'D57<5D=>< 446?5=<<;  3)�4E>D5==>EF< D<?LFD4; 

  4)�54>EF4F>G=>< 446?5=<<. 

9.�4DF5D=O5 747O: 

  1)'<5=LL4NF <7=>E F<?<=4D>6;  2)�>6OL4NF 446?5=<5 6 >4DF5D5; 

  3)%?>E>5EF6GNF E<5E5>5D47>64=<N;  4)'?GGL4NF E<47O64=<5 F<?<=4D>6; 

  5)'E>>DONF EF4D5=<5 <>F>D=>7> <4E?4. 

10.�5=F<?OF<O >4DF5D=OE 747>6: 

  1)�E?46445F 46<74F5?L;  2)�D>65FD<645F ?>DL=<; 

  3)�D>4?5645F ED>> E?G65O <4E?4; 

  4)�>445D6<645F 4F<>ED5D=>5 446?5=<5 6 >4DF5D5. 

11.&<?O 65=F<?OF<< >4DF5D=OE 747>6: 

  1)%>DOF=4O;  2)�F>DOF4O;  3)�4>DOF4O;  4)�4DG6=4O.  

&5<4 6. %<EF5<4 ?<F4=<O 46<74F5?O (55=7<=>6>7>). 

�4D<4=F 7 1 

1.%<EF5<4 ?<F4=<O 55=7<=>6>7> 46<74F5?O E?G6<F 4?O: 

  1)%D4=5=<O F>??<64;  2)�>E??4<5=5=<O 55=7<=4;  3)%D4=5=<O E64F>7> 

6>74GE4; 

  4)�F6>44 >FD45>F46L<E 747>6;  5)�D<7>F>6?5=<O 7>DNG5= E<5E<; 

  6)�>44G< 7>DNG5= E<5E< 6 F<?<=4D5. 

2. %<EF5<4 ?<F4=<O 55=7<=>6>7> 46<74F5?O 6>?NG45F 6 E55O: 

  1)�4E>E;  2)�4D5ND4F>D;  3)&>??<6=O= 54>;  4)�?GL<F5?L LG<4; 

  5)%65G< 746<74=<O;  6)&>??<6=O5 D<?LFDO;  7)�>74GL=O= D<?LFD; 

  8)�?GE>=>= FDG5>?D>6>4;  9)�O?GE>=>= FDG5>?D>6>4. 

3.$<?LFD4F<O 55=7<=4 ?D><EE>4<F 6: 

  1)�5=7>=4E>E5;  2)�4D5ND4F>D5;  3)&DG5>?D>6>45;  4)&>??<6>745>D=<>5; 

  5)$<?LFD5 7DG5>= >G<EF><;  6)$<?LFD5 F>=>>= >G<EF><; 

  7)$<?LFD5 65EF>>= >G<EF><;  8)$<?LFD5 <O7>>= >G<EF><. 
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4.�D<6>4 55=7>=4E>E4 >EGM5EF6?O5FEO >F: 

  1)�4E>6<>;  2)�>?5=G4F>7> 64?4;  3)�4E?O=>7> =4E>E4;  4)�<4>>EF=>7> 

=4E>E4; 

  5)$4E?D545?<F5?L=>7> 64?4; 

  6)%<EF5<O M?5>FD>E=4565=<O. 

5.$45>F4 E<EF5<O ?<F4=<O 46<74F5?O ��� 3 131: 

  1)  55=7>=4E>E;  2)  >4D5ND4F>D;  3)  F>??<6=O= 54>;  4)  D<?LFD 7DG5>= 

>G<EF><; 

  5)  $<?LFD F>=>>= >G<EF><. 

  6.%>EF46 7>DNG5= E<5E< >F5=<645FEO: 

  1)�>M=>EFLN 46<74F5?O;  2)�>MDD<F<5=F>6 =4?>?=5=<O; 

  3)�>MDD<F<5=F>< <75OF>4 6>74GE4;  4)�>MDD<F<5=F>< >EF4F>G=OE 747>6. 

7.�>?<G5EF6> ?>44645<>= <7 >4D5ND4F>D4 7>DNG5= E<5E< 746<E<F >F 

?>?>65=<O:  

  1)�>74GL=>= 74E?>=><; 

  2)�D>EE5?L=>= 74E?>=><; 

  3)�?4?4=4 M>>=><4=75D4; 

  4)�>DL=O GE>>D<F5?L=>7> =4E>E4; 

  5)'D>6=O F>??<64 6 ?>??46>>6>= >4<5D5. 

8.�>DNG4O E<5EL >>MDD<F<5=F <75OF>4 6>74GE4: 

  1)�54=4O                �.³ = 0,4 3 0,7;      2)�>74F4O;              B.³ = 1,0; 

  3)�554=5==4O;      C.³ = 1,05& 1,15;  4)�>D<4?L=4O;      D.³ = 1,2& 1,25; 

  5)�5>74M5==4O;    E.³ = 0,8& 0,95. 

9.�>6OL5==O= GD>65=L F>??<64 6 ?>??46>>6>= >4<5D5 >4D5ND4F>D4 6O7>65F: 

  1)%?>?>< 6 7?GL<F5?5;  2)'65?<G5=<5 <>M=>EF<;  3)%?>?>< 6 >4D5ND4F>D5; 

  4)'<5=LL5=<5 <>M=>EF<;  5)�5D5>554=5=<5 7>DNG5= E<5E<; 

  6)�5D5>5>74M5=<5 7>DNG5= E<5E<. 

10.�>DNG4O E<5EL >>MDD<F<5=F <75OF>4 6>74GE4: 

$56<<O D45>FO 46<74F5?O: 

  1)%>?>EF>= E>4;  2)%D54=<5 =47DG7><;  3)�GE>4 E>?>4=>7> 46<74F5?O; 
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  4)'E>>D5=<5 < ?>?=4O <>M=>EFL. 

       �>MDD<F<5=F <75OF>4 6>74GE4: 

       A.³ = 0,3& 0,5;    B.³ = 0,6& 0,8;     C.³ = 1,15& 1,5;     D.³ = 0,85& 0,90. 

11.�>445D64=<5 GD>6=O 55=7<=4 6 ?>??46>>6>= >4<5D5 >55E?5G<645FEO: 

  1)�>?>65=<5< ?>??46>4; 

  2)$45>F>= M>>=><4=75D4; 

  3)$45>F>= GE>>D<F5?L=>7> =4E>E4; 

  4)�>?>65=<5< 6>74GL=>= 74E?>=><; 

  5)�>?>65=<5< 4D>EE5?L=>= 74E?>=><.  

�4D<4=F 7 2 

1.�5D5>554=5=<5 7>DNG5= E<5E< <>65F 5OFL 6O764=>: 

  1)�4E>D5=<5< 6>74GL=>7> D<?LFD4; 

  2)�4E>D5=<5< F>??<6=>7> 6<>?5D4; 

  3)�4E>D5=<5< 6>74GL=>7> 6<>?5D4; 

  4)�<7><< GD>6=5< F>??<64 6 ?>??46>>6>= >4<5D5; 

  5)�OE>><< GD>6=5< F>??<64 6 ?>??46>>6>= >4<5D5; 

  6)�>4E4EO64=<5< 6>74GE4 G5D57 =5??>F=>EF< 6?GE>=>= E<EF5<O.  

2.%<EF5<4 ?GE>4 E>?>4=>7> 46<74F5?O:  

  1)�554=O5F E<5EL;  2)�5>74M45F E<5EL;  3)�D<>DO645F 6>74GL=GN 74E?>=>G; 

  4)�F>DO645F 6>74GL=GN 74E?>=>G:  5)�4>DO645F 4D>EE5?L=GN 74E?>=>G; 

  6)�D<>F>DO645F 4D>EE5?L=GN 74E?>=>G. 

3.->>=><4=75D >4D5ND4F>D4 7>DNGGN E<5EL: 

  1)�5>74M45F;  2)�554=O5F;  3)$4E?O?O5F;  4)�E?4DO5F; 

    �4 =47DG7>4E: 

      5)�>?=OE;  6)'4EF<G=OE;  7)%>?>EF>7> E>44;  8)'E>>D5=<O. 

4.�6GE>4<5D=O5 >4D5ND4F>DO <<5NF: 

  1)�64 M>>=><4=75D4;  2)�65 ?>??46>>6O5 >4<5DO;  3)�65 E<5E<F5?L=O5 

>4<5DO; 

  4)�65 4D>EE5?L=O5 74E?>=><;  5)�64 GE>>D<F5?L=OE =4E>E4.  

5.�D><76>4<F5?L=>EFL 55=7>=4E>E4: 
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  1)%>>F65FEF6G5F ?>FD55=>EF< 46<74F5?O; 

  2)�D56OL45F ?>FD55=>EFL 46<74F5?O 6 3 3 5 D47; 

  3)�D56OL45F ?>FD55=>EFL 46<74F5?O 6 2 3 3 D47; 

  4)�D56OL45F ?>FD55=>EFL 46<74F5?O 6 2 D474. 

6.&<?O 6>74GL=OE D<?LFD>6: 

  1)EGE>=;  2)�>>DO=;  3)�>?GEGE>=;  4)�4=>EFG?5=G4FO=; 

  5)�6GEEFG?5=G4FO=;  6)&D5EEFG?5=G4FO=. 

7.�444G6 46<74F5?O <>65F 5OFL: 

  1)�5E4=<G5E><<;  2)-?5>FD<G5E><<;  3)&GD5<==O<;  4)�<4D46?<G5E><<; 

 �= ?D><76>4<FEO 4?O: 

5)'65?<G5=<< <4EEO E65657> 74DO44:  6)'65?<G5=<O >5N5<4 E65657> 74DO44; 

7)'65?<G5=<O <>M=>EF< 46<74F5?O;  8)�E?4645=<O 46<74F5?O. 

8.$45>F4 D>DEG=>< <=65>F>D=>7> 46<74F5?O G?D46?O5FEO: 

  1)&>??<6=>= D4<?>=;  2)$57G?OF>D>< 446?5=<O; 

  3)-?5>FD>==O< 5?>>>< G?D46?5=<O; 

  4)�4FG<>>< <4EE>6>7> D4EE>44 6>74GE4; 

  5)�4FG<>>< E>>D>EF< 46<65=<O. 

9.-?5>F>D==O= 5?>> G?D46?5=<O E<EF5<O ?<F4=<O F<?4 MOTRINIC: 

  1)'?D46?O5F D45>F>= D>DEG=>>; 

  2)'?D46?O5F D45>F>= 55=7>=4E>E4; 

  3)'?D46?O5F D45>F>= E<EF5<O  746<74=<O; 

  4)�>=FD>?<DG5F E>EF>O=<5 F>??<6=>7> D<?LFD4; 

  5)�=4?<7<DG5F E<7=4?O, ?>?GG5==O5 E 44FG<>>6; 

  6)�=D>D<<DG5F 6>4<F5?O >5 <E?D46=>EF< E<EF5<O; 

  7)�>?GG45F E<7=4?O E 44FG<>>6 E>EF>O=<O 46<74F5?O. 

10.$47<5M5=<5 F>??<6=>7> =4E>E4 E<EF5<O ?<F4=<O F<?4 MOTRONIC: 

1)�4 46<74F5?5;2)� F>??<6=>< 54>5;3)�4 F>??<6=>< 54>5;4)� F>??<6=>< 

D<?LFD5. 

       �7> ?D<6>4: 

       5)-?5>FD<G5E><=;  6)�5E4=<G5E><= >F >>?5=G4F>7> 64?4; 
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       7)�5E4=<G5E><= >F D4E?D545?<F5?L=>7> 64?4.  

11.�4F4?<F<G5E><= =5=FD4?<74F>D >FD45>F46L<E 747>6: 

  1)'E>>DO5F ?D>F5EE 6O?GE>4 ��;  2)�7<5=O5F E<<<G5E><= E>EF46 747>6; 

  3)�5D56>4<F 6D54=O5 >><?>=5=FO 747>6 6 5576D54=O5. 

      �5?45F MF>: 

     4)�E5744;  5)&>?L>> ?>E?5 ?D>7D564 4> 300 çC;  6)&>?L>> =4 E>?>4=>< 

46<74F5?5. 

%<EF5<4 ?<F4=<O 46<74F5?O (4<75?L=>7>). 

1.$45>F4 E<EF5<O ?<F4=<O 4<75?O: 

  1) &���;  2) D>DEG=>4;  3) F>??<6=O= 54>;  4) D<?LFD 7DG5>= >G<EF><; 

  5) D<?LFD F>=>>= >G<EF><;  6) F>??<6>?>4>4G<64NM<= =4E>E.  

2.% G65?<G5=<5< =47DG7>< 4<75?< E>?>==O >: 

  1)$47=>EG;  2)�EF4=>6>5. 

     �?O ?D54>F6D4M5=<O MF>7> >=< E=4564NFEO: 

     3)$57G?OF>D>< G4EF>FO 6D4M5=<O;  4)�GDF>= >?5D565=<O 6?DOE>4 

F>??<64. 

3.�46?5=<5 F>??<6>?>4>4G<64NM57> =4E>E4: 

  1)0,05 3 0,15 �?4;  2)0,15 3 0,25 �?4;  3)0,25 3 0,35 �?4;   4)0,35 3 0,45 �?4; 

4.�D545?O 446?5=<O 6?DOE>4: 

  1)5 3 10 �?4;  2)10 3 15 �?4;  3)15 3 20 �?4;  4)25 3 30 �?4; 

5.�4E>E=4O E5>F<O &���: 

  1)$5=>4;  2)�?G=65D;  3)�DG6<=4;  4)&>?>4F5?L;  5)'?>D D5=><;  

6)�G?4G>>6O= 64?; 7)%54?> =47=5F4F5?L=>7> >?4?4=4;  8)�?>D=4O L4=54 

?DG6<=O. 

9)�47=5F4F5?L=O= >?4?4=; 10)�5D5?GE>=>= >?4?4=;  11)�>6>D>F=4O 6FG?>4; 

12)�FG?>4 ??G=65D4. 

8.�4E>E =<7>>7> 446?5=<O ?D<6>4<FEO >F: 

  1)�G?4G>>6>7> 64?4;  2)&5=FD>556=>= <GDFO;  3)$4E?D545?<F5?L=>7> 64?4; 

  4)�E5D56<<=>7> D57G?OF>D G4EF>FO; 

9.$45>FO =4E>E=>= E5>F<<: 
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  1) >FE5G>4 6?GE>=>7> >>=4;  2) 46<65=<5 ??G=65D4 6=<7; 

  3) 46<65=<5 ??G=65D4 665DE;  4) >FE5G>4 ?5D5?GE>=>7> >>=4; 

  5) >F>DOF<5 =47=5F4F5?L=>7> >?4?4=4;  6) 74?>?=5=<5 F>??<6>< =44 

??G=65D=>= ?>?>EF<. 

%<EF5<4 ?<F4=<O 46<74F5?O (>F 747>54??>==>= GEF4=>6><) 

�4D<4=F 7 1 

1.�D5<<GM5EF64 747>>5D47=>7> F>??<64: 

  1)�5 E>45D6<F E5DG;  2)�>F4=>6>5 G<E?> 105;  3) �>F4=>6>5 G<E?> 195; 

  4)�5=LL4O E555EF><<>EFL;  5)�5=LL<= D4EE>4 F>??<64; 

  6)%<O645F <4E?O=GN ??5=>G;  7)�5 E>45D6<F G7?56>4>D>4O; 

  8)$4EF6>DO5F E<>?<EFO5 >F?>65=<O;  9)�>6OL45FEO <>M=>EFL 46<74F5?O.  

2.�4E><<4?L=>5 446?5=<5 6 54??>=4E E64F>7> 7474, �?4: 

  1)100;  2)150;  3)200;  4)250. 

3.�4>E<<4?L=>5 446?5=<5 6 54??>=4E E6<65==>7> 7474, �?4: 

  1)0,5 3 1,0;  2)1, 0 3 1, 5;  3)1,6 3 2,0;  4)2, 1 3 2, 5. 

       �46<E<F >F: 

       5)%>EF464 747>6>= E<5E<;  6)&5<?5D4FGDO 46<74F5?O; 

       7)&5<?5D4FGDO >>DG64NM5= ED54O:  8)'4EF>FO 6D4M5=<O >>?5=G4F>7> 

64?4. 

4.'EF4=>6<F5 E>>F65FEF6<5: 

  &>??<6>:                                                            %>EF46: 

  1)%64FO= 747;                                                  A. �5F4=; 

  2)%6<65==O= 747;                                          B. �D>?4=>5GF4=>64O E<5EL 

                                 �F65F: 1)    ; 2)    ; 

5.%64FO= 747 ?>4>7D564NF =4 6OE>45, GF>5O: 

  1)�>6OE<FL 446?5=<5;  2)�>=<7<FL 446?5=<5;  3)�G<EF<FL >F >>4?<=O; 

  4)�5 74<5D7?< 54??>=O;  5)�5 >5<5D74?< FDG5>?D>6>4O; 

  6)�5D565EF< 57> 6 ?4D>6GN D47G. 

6.%6<65==O= 747 ?>4>7D564NF 6 <E?4D<F5?5, GF>5O: 

  1)�5>74F<FL E<5EL;  2)?>6OE<FL 446?5=<5;  3)�>=<7<FL 446?5=<5; 
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  4)�G<EF<FL >F >>4?<=O;  5)�5 >5<5D74?< FDG5>?D>6>4O: 

  6)�5D565EF< 57> 6 ?4D>6GN D47G;  7)�>47>F>6<FL 4?O ?>44G< 6 D54G>F>D. 

7.�47>6O= D54G>F>D: 

  1)�>=<645F 446?5=<5;  2)�>6OL45F 446?5=<5;  3)'EF4=46?<645FEO =4 

54??>=5; 

  4)�<55F D57G?<D>6>G 446?5=<O;  5)�>=FD>?<DG5F >EF4F>G=O= 74?4E; 

  6)'EF4=46?<645FEO ?5D54 E<5E<F5?5<. 

8.�46?5=<5 7474 ?5D54 E<5E<F5?5<: 

  1)20 ��4;  2)1,6 3 2,0 ��4;  3)�5 5>?55 0,3 ��4;  4)�5 <5=55 0,3 ��4; 

  5)�?<7>>5 > 4F<>ED5D=><G. 

9.'E>>D<F5?L=O= =4E>E 6 747>54??>==>= GEF4=>6>5: 

  1)�FEGFEF6G5F;  2)� E<5E<F5?5;  3)� D54G>F>D5;  4)� <E?4D<F5?5:  5)6 

?>4>7D564F5?5. 

10.�>7<DGNM<5 3 M>>=><4=75D=>5 GEFD>=EF6>: 

  1)�FEGFEF6G5F;  2)� E<5E<F5?5;  3)� D54G>F>D5;  4)�554=O5F E<5EL; 

  5)�5>74M45F E<5EL;  6)�>=<645F 45F>=4F<N;  7)% <5E4=<G5E><< ?D<6>4><; 

  8)% ?=56<4F<G5E><< ?D<6>4><. 

�4D<4=F 7 2 

1.�47>6O= E<5E<F5?L E<5L<645F: 

  1)�47 E 6>74GE><;  2)�D>?4= < 5GF4=;  3)�D>?4= < <5F4=;  4)�GF4= < <5F4=. 

     �<55F: 

     5)�<DDG7>D;  6)->>=><4=75D;  7)�5D4F=O= >?4?4=;  8)�47>6GN D>DEG=>G; 

     9)'E>>D<F5?L=O= =4E>E;  10)�D>EE5?L=GN 74E?>=>G;  11)%<EF5<G 

E>?>EF>7> E>44. 

2.�4??>=O E64F>7> 7474 <<5NF 74?4E ?D>G=>EF<: 

  1)2 3 >D4F=O=;  2)3 3 >D4F=O=;  3)4 3 >D4F=O=;  4)5 3 >D4F=O=; 

     �>D4L<645FEO 6 F65F: 

     5)%<=<=;  6)�D4E=O=;  7)'5D=O=;  8)�5?FO=;  9)�5?O=. 

3.�4??>=O 4?O 747>6>7> F>??<64 <<5NF =4 E55O 44==O5: 

  1)�4EE4;  2)VIN >>4;  3)�?5=<> �&�:  4)�4D>4 EF4?<:  5)�<5EF<<>EFL; 
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 6)�><5D 54??>=4; 7)$45>G55 446?5=<5; 8)�4F4 <77>F>6?5=<O;  

9)�46>4 3 <77>F>6<F5?L;  10)�>4 E?54GNM57> ?5D5>E6<45F5?LEF6>64=<O.  

4.�>74F>D: 

  1)'?D46?O5FEO -�';  2)�>445F 747 6 D54G>F>D;  3)'<5=LL45F ?>44GG 7474; 

  4)'65?<G<645F ?>44GG 7474;  5)'?D46?O5FEO ?544?LN 7474; 

  6)�>445F 747 6 D4E?D545?<F5?L. 

5.-<G?OF>DO: 

 1)%>54<=ONFEO E D54G>F>D><;  2)%>54<=ONFEO E D4E?D545?<F5?5<; 

  3)�4<5=ONF 55=7<=>6O5 D>DEG=><;  4)'EF4=46?<64NFEO 6> 6?GE>=>< 

FDG5>?D>6>45; 

  5) «�?DOE><64NF» 747 ?5D54 6?GE>=O<< >?4?4=4<<; 

  6) «�?DOE><64NF» 747 =5?>ED54EF65==> 6 F<?<=4DO. 

6.�D< 6E?OL>5 7474 ?>4 >4?>F>< 46F><>5<?O: 

  1)�F>?NG<FL 747;  2)�>><=GFL <4L<=G;  3)�F>?NG<FL 55=7<=; 

  4)�>?<64FL 54??>= 6>4>=:  5)'65?<G<FL >5>D>FO 46<74F5?O; 

  6)�5D5>DOFL D4EE>4=O= 65=F<?L;  7)%4G64FL >7>=L =4?>D>< 6>74GE4. 

7.�4?D5M45FEO: 

  1)�4?GE>4FL 46<74F5?L =4 7475;  2)�5<>=F<D>64FL 54??>= E 747><: 

  3)�4?GE>4FL 46<74F5?L =4 55=7<=5; 

  4)�D>6>4<FL D5<>=F 4??4D4FGDO ?>4 446?5=<5< 7474; 

  5)�D>4>?64FL 46<65=<5, 5E?< 6 E4?>=5 5EFL 74?4E 7474: 

  6)�4?GE>4FL 46<74F5?L >4=>6D5<5==> =4 7475 < 55=7<=5; 

  7)->E??G4F<D>64FL 4??4D4FGDG E <5E4=<G5E><<< ?>6D5645=<O<<. 

8.�E6<45F5?LEF6>64=<5 747>6>7> 54??>=4 >464O5: 

  1)1 7>4;  2)2 7>44;  3)3 7>44;  4)4 7>44:  5)3 <5EOF4;  6)6 <5EOF56. 

 

&5<4 7. -?5>FD>>5>DG4>64=<5. 

�>>G<G?OF>D=O5 54F4D5< 

�4D<4=F 7 1 

1.�4> 6O?>?=O5FEO <4D><D>6>4 4>>G<G?OF>D=OE 54F4D5=? 
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2.�4><5 D<7<>>-E<<<G5E><5 ?D>F5EEO ?D><EE>4OF 6 4>>G<G?OF>D=>= 54F4D5< 

?D< D47DO4>5? 

3.�4><5 D<7<>>-E<<<G5E><5 ?D>F5EEO ?D><EE>4OF ?D< 74DO4>5? 

4.�4><5 E?>E>5O 74DO4>< 4>>G<G?OF>D=OE 54F4D5= 6O 7=45F5? 

5.�4><5 EGM5EF6GNF E?>E>5O 4?O >?D545?5=<O U<>>EF< 4>>G<G?OF>D=OE 

54F4D5=? 

�4D<4=F 7 2 

1.�EF>G=<>< M?5>FD<G5E>>= M=5D7<<: 

  1)D4DO;  2)EF4DF5D;  3)75=5D4F>D;  4)7454D<F=O5 D>=4D<; 5) 4>>G<G?OF>D=4O 

54F4D5O. 

�=< 6>?NG4NFEO 4DG7 4DG7G: 

  6)?>E?54>64F5?L=>;  7)?4D4??5?L=>. 

�E=>6=>= <7 =<E: 

  8)D4DO;  9)EF4DF5D;  10)75=5D4F>D;  11)7454D<F=O5 D>=4D<; 

  12)4>>G<G?OF>D=4O 54F4D5O. 

2.�?46=O= ?>FD55<F5?L F>>4 4>>G<G?OF>D=>= 54F4D5< (4>5): 

  1)EF4DF5D;  2)75=5D4F>D;  3)E<EF5<4 746<74=<O;  4)E<EF5<4 >E65M5=<O; 

  5)E<EF5<4 E65F>6>= E<7=4?<74F<<. 

3.'EF4=>6<F5 E>>F65FEF6<5 

�>F<6=>5 65M5EF6> M?5>FD>4O: 

1)$b�;                  �. ?>?>6<F5?L=O= M?5>FD>4; 

2)$b�2;                �. >FD<F4F5?L=O= M?5>FD>4. 

4.-?5>FD>?<F EF4DF5D=>7> 4>>G<G?OF>D4 - MF> E<5EL: 

  1)M5?>G< < 6>4O;  2)E5D=>= < E>?O=>= ><E?>F; 

  3)E5D=>= ><E?>FO < MF<?5=7?<>>?O;  4)E>?O=>= ><E?>FO < MF<?5=7?<>>?O; 

  5)E5D=>= ><E?>FO < 4<EF<??<D>64==>= 6>4O; 

  6)E>?O=>= ><E?>FO < 4<EF<??<D>64==>= 6>4O. 

5.�5F4?< 4>>G<G?OF>D=>= 54F4D5<: 

  1)5454D5F>4;  2)14 4 ?D>5>4;  3)12 4 54D5F>4;  4)2 4 E5?4D4F>D; 
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  5)3 4 M?5>FD>4O;  6)1 4 M?5>FD>4O;  7)6 4 E5?4D4F>D;  8)144 ?>?NE=O= 

6O6>4; 

  9)6 4 ?D54>ED4=<F5?L=O= M<F>>;  10)104 ?D54>ED4=<F5?L=O= M<F>>. 

 

$<E. %F4DF5D=4O 4>>G<G?OF>D=4O 54F4D5O E >F>DOFO<< <56M?5>FD>4=O< 

E>54<=5=<O<< 

6.-�% ��� 746<E<F >F: 

  1)55 D47DO65==>EF<;  2)<4F5D<4?4 E5?4D4F>D>6;  3)>>?<G5EF64 M?5>FD>?<F4; 

  4)F5<?5D4FGDO M?5>FD>?<F4;  5)>>?<G5EF64 4>>G<G?OF>D>6; 

  6)>>?<G5EF64 4>F<6=>= <4EEO;  7)F>?M<=O D5L5F>> M?5>FD>4>6; 

  8)E<<<G5E><E E6>=EF6 65M5EF6 4>F<6=>= <4EEO. 

7.�>?>?=<F5 

1.�<>>EFLN ��� =47O645FEO <4>E<<4?L=>5 >>?<G5EF6> _______, >>F>D>5 

54F4D5O <>65F >F44FL ?D< ?>?=><_______________. 

8.'>46<F5, =><5D4 6E5E ?D46<?L=OE >F65F>6 

�<>>EFL ��� 746<E<F >F: 

  1)55 D47DO65==>EF<;  2)<4F5D<4?4 E5?4D4F>D>6;  3)>>?<G5EF64 M?5>FD>?<F4; 

  4)F5<?5D4FGDO M?5>FD>?<F4;  5)65?<G<=O D47DO4=>7> F>>4; 

  6)>>?<G5EF64 4>>G<G?OF>D>6;  7)>>?<G5EF64 4>F<6=>= <4EEO; 

  8)F>?M<=O D5L5F>> M?5>FD>4>6;  9)E<<<G5E><E E6>=EF6 65M5EF6 4>F<6=>= 

<4EEO. 

�7<5DO5FEO 6: 

  10)?<FD4E;  11)6>?LF4E;  12)4<?5D-G4E4E;  13)6>?LF-4<?5D4E. 

9.�=GFD5==55 E>?D>F<6?5=<5 ��� 746<E<F >F: 
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  1)??>F=>EF< M?5>FD>?<F4;  2)<4F5D<4?4 E5?4D4F>D>6;  3)>>?<G5EF64 

M?5>FD>?<F4; 

  4)F5<?5D4FGDO M?5>FD>?<F4;  5)65?<G<=O D47DO4=>7> F>>4; 

  6)>>?<G5EF64 4>>G<G?OF>D>6;  7)>>?<G5EF64 4>F<6=>= <4EEO; 

  8)F>?M<=O D5L5F>> M?5>FD>4>6;  9)E<<<G5E><E E6>=EF6 65M5EF6 4>F<6=>= 

<4EEO. 

10.�4?DO65=<5 D47DO44 746<EF< >F: 

  1)55 D47DO65==>EF<;  2)<4F5D<4?4 E5?4D4F>D>6;  3)>>?<G5EF64 M?5>FD>?<F4; 

  4)F5<?5D4FGDO M?5>FD>?<F4;  5)>>?<G5EF64 4>>G<G?OF>D>6; 

  6)>>?<G5EF64 4>F<6=>= <4EEO;  7)F>?M<=O D5L5F>> M?5>FD>4>6. 

11.�D< D47DO45 4>>G<G?OF>D4 >5D47G5FEO: 

1)6>44;2)><E?>F4;3)7G5G4FO= E6<=5F;4)EG?LD4F E6<=F4;5)4<>>E<4 E6<=F4. 

�?>F=>EFL M?5>FD>?<F4: 

6)?>6OL45FEO;7)?>=<645FEO. 

12.�D545?L=> 4>?GEF<<O5 7=4G5=<O D47DO65==>EF< ��� "?> =4?DO65=<N, 6: 

1)8,5; 2)9,5;3)10,5. 

�> ??>F=>EF< M?5>FD>?<F4, 7/E<
3
: 

4)1,05;5)1,11;6)1,17. 

13.%4<>D47DO4 =>D<4?L=O=: 

1)5 % 74 14 EGF>> 4?O >5E?G6<645<OE ���; 

2)10 % 74 14 EGF>> 4?O >5E?G6<645<OE ���; 

3)15 % 74 14 EGF>> 4?O >5E?G6<645<OE ���; 

4)5 % 74 90 EGF>> 4?O =5 >5E?G6<645<OE ���; 

5)10 % 74 90 EGF>> 4?O =5 >5E?G6<645<OE ���; 

6)15 % 74 90 EGF>> 4?O =5 >5E?G6<645<OE ���. 

�D< F5<?5D4FGD5 M?5>FD>?<F4: 

7)5-15 %;8)15-25 %;9)30-35 %. 

14.%D>> E?G65O ��� E=<645F: 

1)6OE>><= F>> 74DO44;2)6OE>><= F>> D47DO44;3)=<7><= GD>65=L M?5>FD>?<F4; 

4)6OE>><= GD>65=L M?5>FD>?<F4;5)G4EFO= >>=FD>?L 55 E>EF>O=<O; 
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6)6OE>>4O F5<?5D4FGD4 M?5>FD>?<F4;7)ED4=5=<5 6 D47DO65==>< E>EF>O=<<; 

8)?>6OL5==4O ??>F=>EFL M?5>FD>?<F4;9)6OE>>4O <=F5=E<6=>EFL 

M>E??G4F4F<<; 

10)74DO4>4 F>?L>> >F 75=5D4F>D4 46F><>5<?O. 

15.%5?4D4F>D: 

1)6 6<45 ??4EF<=;2)6 6<45 >>=65DF4;3)?D>=<F45< 4?O M?5>FD>?<F4; 

4)=5 ?D>=<F45< 4?O M?5>FD>?<F4;5)D47N54<=O5F 4>>G<G?OF>DO 6 54F4D55; 

6)D47N54<=O5F D47=><<5==O5 M?5>FD>4O.7)M5>=<F;8)<<?>D;9)6<=<?>D; 10) 

<<??4EF; 

�7> <4F5D<4?: 

11)??4EF<?>D;12)?>D>6<=<?;13)?>?<?D>?<?5=. 

16. $5L5F>< M?5>FD>4=OE ??4EF<=: 

1)<54=O5;2)EF4?L=O5;3)E6<=F>6O5;4)>?>6O==O5 

%>45D64F 5-7 %: 

5)DF>D4;6)=4FD<O;7)EGDL<O;8)<OLLO>4. 

-F> ?D<6>4<F >: 

9)<=F5=E<6=><G 747>6O45?5=<N;10)E=<65=<N <4EEO 4>>G<G?OF>D4; 

11)?>6OL5=<N ?D>G=>EF< D5L5F>>;12)G<5=LL5=<N E>?D>F<6?5=<O 54F4D5<. 

�E?>?L7G5FEO 6 4>>G<G?OF>D4E: 

13)>5E?G6<645<OE;14)=5>5E?G6<645<OE. 

17.�4DO4 ��� ?>EF>O==O< (?> 65?<G<=5) F>>><: 

1)E>>D>F5G5= ?> 6D5<5=<;2)ED46=<F5?L=> 4?<F5?5=;3)>55E?5G<645F 100%-=O= 

74DO4; 

4)?D<<5=O5FEO =4 46F><>5<?5;5)>55E?5G<645F 90495%-=O= 74DO4; 

6)?D<<5=O5FEO =4 EF4F<>=4D=OE GEF4=>6>4E; 

7)?>76>?O5F 74DO64FL =5E>>?L>> ��� ED47G;8)?5D6>=4G4?L=> <45F ?D< 

5>?LL>< 57> 7=4G5=<<. 

18.�4DO4 4>5 ?D< ?>EF>O==O< =4?DO65=<<: 

1)E>>D>F5G5= ?> 6D5<5=<;2)ED46=<F5?L=> 4?<F5?5=;3)>55E?5G<645F 100%-=O= 

74DO4; 
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4)?D<<5=O5FEO =4 46F><>5<?5;5)>55E?5G<645F 90495%-=O= 74DO4; 

6)?D<<5=O5FEO =4 EF4F<>=4D=OE GEF4=>6>4E; 

7)?>76>?O5F 74DO64FL =5E>>?L>> ��� ED47G; 

8)?5D6>=4G4?L=> <45F ?D< 5>?LL>< 57> 7=4G5=<<. 

19.'D>65=L M?5>FD>?<F4 =44 M?5>FD>4=O<< ??4EF<=4<<, <<: 

  1)5-10;  2)10-15;  3)20-30;  4) 30-35;  5) 35-40. 

20.�D< 74DO45 4>>G<G?OF>D4 >5D47G5FEO: 

1)6>44; 2)><E?>F4; 3)7G5G4FO= E6<=5F; 4) EG?LD4F E6<=F4; 5) 4<>>E<4 E6<=F4. 

�?>F=>EFL M?5>FD>?<F4: 

6)?>6OL45FEO;7)?>=<645FEO. 

21.�>=5F 74DO44 4>5 >?D545?O5FEO: 

1)?D5>D4M5=<5< D>EF4 ??>F=>EF< M?5>FD>?<F4 6 F5G5=<5 0,5 G; 

2)?D5>D4M5=<5< D>EF4 ??>F=>EF< M?5>FD>?<F4 6 F5G5=<5 1 G; 

3)?D5>D4M5=<5< D>EF4 ??>F=>EF< M?5>FD>?<F4 6 F5G5=<5 2 G. 

22.%=<65=<5 ??>F=>EF< M?5>FD>?<F4 =4 0,01 7/E<
3
 E>>F65FEF6G5F % 

G<5=LL5=<O EF5?5=< 74DO65==>EF< 4>5: 

  1)1-2;  2)3-4;  3)5-6; 4) 7-8;  5)9-10. 

23.�?>F=>EFL M?5>FD>?<F4 ?>?=>EFLN 74DO65==>= 4>5 ?D< 20 "E, 7/E<
3
: 

  1)1,25;  2)1,27;  3)1,30;  4) 1,31;  5) 1,32. 

24.�>?>?=<F5 

�=4G5=<O ??>F=>EF< M?5>FD>?<F4 ?D< E=<65=<< 57> F5<?5D4FGDO =4 >464O5 

20 °E: E?54G5F G<5=LL4FL =4 __________7/E<
3
 < =4>5>D>F. 

25.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6 

�=4G5=<5 =4?DO65=<O <E?D46=>= ��� ?D< <E?OF4=<< 55 =47DG7>G=>= 6<?>>= 

6 F5G5=<5 5 E, 6 =5 <5=55: 

  1)7,5;  2)8,0;  3)8,5;  4)9,5;  5) 10,0;  6)10,5. 

26.�D< ?>6OL5=<< F5<?5D4FGDO M?5>FD>?<F4 6OL5 35 °E: 

1)6D5<5==> ?D5>D4M4NF 74DO4;2)E=<64NF 74DO4=O= F>> 6 2 D474; 

3)4>?<64NF E>?>4=O= M?5>FD>?<F;4)4>?<64NF 4<EF<??<D>64==GN 6>4G; 

5)?D>F<D4NF >>D?GE ��� D4EF6>D>< =4L4FODO. 
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27.� =5>5E?G6<645<OE ���: 

1)E5?4D4F>D 6 6<45 >>=65DF4;2)E5?4D4F>D 6 6<45 ??4EF<=O; 

3)=4 4=5 <>=>5?>>4 >FEGFEF6GNF ?D<7<O;4)6 <4F5D<4?5 D5L5F>> 

?D<EGFEF6G5F >?>6>; 

5)6 <4F5D<4?5 D5L5F>> ?D<EGFEF6G5F >4?LF<=; 

6)G65?<G5=4 F>?M<=4 M?5>FD>4>6 < E5?4D4F>D>6; 

7)G<5=LL5=4 F>?M<=4 M?5>FD>4>6 < E5?4D4F>D>6; 

8)E>54<=5=<5 4>>G<G?OF>D>6 G5D57 ?5D57>D>4>< <>=>5?>>4. 

�5=5D4F>D=O5 GEF4=>6><  

�4D<4=F 7 1 

1.�5=5D4F>DO ?5D5<5==>7> F>>4 < <E GEFD>=EF6> 

2.�D5<<GM5EF64 < =54>EF4F>< 75=5D4F>D>6 ?5D5<5==>7> F>>4 

3.�4><5 FD55>64=<O ?D54NO6?ONFEO > 75=5D4F>D=O< GEF4=>6>4<? 

4.�4><5 4>EF><=EF64 < =54>EF4F>< <<55F 75=5D4F>D=4O GEF4=>6>4 ?>EF>O==>7> 

F>>4? 

5.�4><5 4>EF><=EF64 < =54>EF4F>< <<55F 75=5D4F>D ?5D5<5==>7> F>>4? 

6.$4EE>46<F5 >5 >E=>6=OE G7?4E 75=5D4F>D4 ?5D5<5==>7> F>>4. 

7.�4> D57G?<DG5FEO =4?DO65=<5 75=5D4F>D>6 ?5D5<5==>7> F>>4? 

8.$4EE>46<F5 > ?D<=F<?5 D45>FO 6<5D4F<>==>7> D57G?OF>D4 =4?DO65=<O. 

9.$4EE>46<F5 > ?D<=F<?5 D45>FO >>=F4>F=>-FD4=7<EF>D=>7> D57G?OF>D4 

=4?DO65=<O. 

10.$4EE>46<F5 > ?D<=F<?5 D45>FO 55E>>=F4>F=>7> D57G?OF>D4 =4?DO65=<O. 

11.$57G?<D>64=<5 =4?DO65=<O 75=5D4F>D>6 

12.�4>GN ??>F=>EFL 4>?65= <<5FL M?5>FD>?<F 4?O ?>?=>EFLN 74DO65==>= 

4>>G<G?OF>D=>= 54F4D5<? 

13.�5D5G<E?<F5 >E=>6=O5 =5<E?D46=>EF< E<EF5<O M?5>FD>E=4565=<O 

46F><>5<?O. 

14.�4><5 =5<E?D46=>EF< 75=5D4F>D>6 ?5D5<5==>7> F>>4 6O 7=45F5? 

15.�4>>5 >5>DG4>64=<5 ?D<<5=O5FEO 4?O ?D>65D>< E<EF5<O 

M?5>FD>E=4565=<O? 
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16.�4><5 D45>FO ?D>6>4OFEO ?D< &�-1? 

17.�4><5 D45>FO 6O?>?=ONFEO ?D< &�-2? 

�4D<4=F 7 2 

1.�5=5D4F>D=4O GEF4=>6>4 E>EF><F <7;   

1)���;  2)EF4DF5D4;  3)75=5D4F>D4;  4)>4FGL>< 746<74=<O;  5)D57G?OF>D4 

=4?DO65=<O. 

2. �5=5D4F>D ?5D5<5==>7> F>>4 FD55G5F: 

1) D57G?OF>D =4?DO65=<O;2) D5?5 >5D4F=>7> F>>4; 

3) >7D4=<G<F5?L E<?O F>>4;4) 4>>G<G?OF>D, 

&4> >4> >=: 

5) =5 <<55F >>??5>F>D4;6) <<55F 4<>4=O= <>EF;7) <<55F >>=F4>F=O5 >>?LF4; 

8) =5 >5?4445F E4<>6>75G645=<5<;9) >5?4445F E4<>>7D4=<G5=<5< ?> F>>G; 

 10) =5 >5?4445F ?>EF>O=EF6>< =4?DO65=<O. 

 

3.'EF4=>6<F5 E>>F65FEF6<5. �E=>6=O5 G7?O 75=5D4F>D4  

A.                  1) D>F>D; 

B                 . 2) EF4F>D; 

C.                   3) M5F>G=O= G75?; 

D.                   4) 6O?DO<<F5?L=>5 GEFD>=EF6>; 
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$<E. �5=5D4F>D ?5D5<5==>7> F>>4 

4.�O55D<F5 ?D46<?L=OE >F65FO 

 $>F>D 75=5D4F>D4 E>45D6<F: 

1) 64?;2) M5F><;3) 4<>4O;4) >>=F4>F=O5 >>?LF4;5) FD5ED47=GN >5<>F>G; 

6) >5<>F>G 6>75G645=<O;7) >?N6>>5D47=O5 ?>?NEO;8) ?4>5F EF4?L=OE 

??4EF<=; 

%>7445F: 

11) <47=<F=>5 ?>?5;12) ?>EF>O==GN -�%;13) ?5D5<5==GN -�%. 

5. %F4F>D 75=5D4F>D4 E>45D6<F: 

1) 64?;2) L><6;3) M5F><;4)4<>4O;5) ?>4L<?=<><;6) >>=F4>F=O5 >>?LF4; 

7) FD5ED47=GN >5<>F>G;8) >5<>F>G 6>75G645=<O;9) >?N6>>5D47=O5 ?>?NEO; 

10) ?4>5F EF4?L=OE ??4EF<=. 

%>7445F: 

11) <47=<F=>5 ?>?5;12) ?>EF>O==GN -�%;13) ?5D5<5==GN -�%. 

6. -5F>G=O= G75? 6>?NG45F: 

1) >>D?GE;2) ?>4L<?=<><;3) <54=O5 M5F><;4) 7D4D<F=O5 M5F><. 

�55E?5G<645F: 

5) E>>?L7OM<= >>=F4>F;6) ?<F4=<5 >5<>F>> EF4F>D4;7) ?<F4=<5 >5<>F>< 

6>75G645=<O. 
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�7> M5F>< <7>?<D>64=O >F: 

8) 4DG7 >F 4DG74;9) >>=F4>F=OE >>?5F; 10) >>D?GE4 75=5D4F>D4. 

7. �O?DO<<F5?L=>5 GEFD>=EF6> 6>?NG45F: 

1) >>=45=E4F>D;2) ??4EF<=O-F5??>>F6>4O;3) 4<>4O ?DO<>= ?D>6>4<<>EF<; 

4) 4<>4O >5D4F=>= ?D>6>4<<>EF<;5) 4>?>?=<F5?L=>5 E>?D>F<6?5=<5. 

%>54<=O5FEO E: 

6) M5F>G=O< G7?><;7) >5<>F>4<< D>F>D4;8) >5<>F>4<< EF4F>D4; 

9) >>D?GE>< 75=5D4F>D4;10) D57G?OF>D>< =4?DO65=<O. 

�D56D4M45F: 

11) ?>EF>O==GN -�% 6 ?5D5<5==GN;12) ?5D5<5==GN -�% 6 ?>EF>O==GN. 

8. �>=F4>F=O5 >>?LF4 D>F>D4 6O?>?=5=O <7: 

1) <54<;2) 5D>=7O;3) 4?N<<=<O;4) F<=>>6>7> E??464;5) <5F4??<7<D>64==>7> 

?>D>L>4. 

�7>?<D>64=O >F: 

6) 64?4;7) M5F>>;8) >5<>F>< D>F>D4;9) D57G?OF>D4 =4?DO65=<O. 

�>=F4>F<DGNF E: 

10) 64?><;11) M5F>4<<;12) >5<>F>4<< D>F>D4;13) >5<>F>4<< EF4F>D4; 

14) 6O?DO<<F5?L=O< GEFD>=EF6><. 

9. �?N6>>5D47=O5 ?>?NEO D>F>D4: 

1) E>744NF <47=<F=>5 ?>?5;2) D>D<<DGNF <47=<F=>5 ?>?5; 

3) <7>?<D>64=O >F 64?4 D>F>D4;4) <7>?<D>64=O >F >5<>F>< D>F>D4; 

5) ?5D544NF F>> >5<>F>< 6>75G645=<O. 

10. �O?DO<?5==>5 =4?DO65=<5 75=5D4F>D4 746<E<F >F: 

1) G4EF>FO 6D4M5=<O D>F>D4;2) 65?<G<=O F>>4 6>75G645=<O; 

3) G<E?4 6<F>>6 >5<>F>< D>F>D4;4) G<E?4 6<F>>6 >5<>F>> EF4F>D4; 
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5) >>?<G5EF64 4<>4>6 6O?DO<<F5?O. 

�>?6=> 5OFL 6 ?D545?4E: 

6) 12,0 �;7) 9,5-12,5 �;8) 13,2-15,5 �;9) 16,0-16,2 �. 

�>445D6<645FEO 6 =<E: 

10) D57G?OF>D>< =4?DO65=<O;11) 4>>G<G?OF>D=>= 54F4D55=; 

12) 6O?DO<<F5?L=O< GEFD>=EF6><;13) 4>?>?=<F5?L=O< D5?5 >5D4F=>7> F>>4. 

-F>F ?D<5>D 6>745=EF6G5F =4: 

14) >5<>F>G EF4F>D4;15) >5<>F>G D>F>D4. 

 �<5D4F<>==O= D57G?OF>D =4?DO65=<O (D<E. 4): 

1) <7<5=O5F F>> 6 >5<>F>5 ��;2) ?>4>?NG45F D57<EF>D R� 6 >5<>F>G ��; 

3) >F>?NG45F D57<EF>D R� >F >5<>F>< ��;4) ?>4>?NG45F >5<>F>G �$ > 

>5<>F>5 ��; 

5) >F>?NG45F >5<>F>G �$ >F >5<>F>< ��;6) ?>?=>EFLN >5DO645F F>> 6 

>5<>F>5 ��. 

 

$<E. $57G?OF>D =4?DO65=<O: 4 4 6<5D4F<>==O=; 5 4 

55E>>=F4>F=O= 

12. $45>F4 6<5D4F<>==>7> D57G?OF>D4 ?D< G65?<G5=<< =4?DO65=<O 

75=5D4F>D4 6OL5 =>D<O (D<E. 4): 

1)  D>EF F>>4 6 >5<>F>5 �$;2)  ?D<FO65=<5 O>>DL>4 2 > E5D45G=<>G 4; 
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3)  ?>4>?NG5=<5 D57<EF>D4 R� > >5<>F>5 �� 

4) G65?<G5=<5 <47=<F=>7> ?>?O E5D45G=<>4 4; 

5)  D>EF =4?DO65=<O =4 >?5<<5 «+» 75=5D4F>D4; 

6)  ?445=<5 =4?DO65=<O =4 >?5<<5 «+» 75=5D4F>D4. 

13.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6 

 �5E>>=F4>F=O= D57G?OF>D =4?DO65=<O (D<E. 5)\ 

1) <7<5=O5F F>> 6 >5<>F>5 � �;2) ?>4>?NG45F D57<EF>D R5 6 >5<>F>G ��; 

3) >F>?NG45F D57<EF>D R5 >F >5<>F>< ��;4) ?>?=>EFLN >5DO645F F>> 6 

>5<>F>5 ��. 

14. 'EF4=>6<F5 ?D46<?L=GN ?>E?54>64F5?L=>EFL 

$45>F4 55E>>=F4>F=>7> D57G?OF>D4 ?D< ?445=<< =4?DO65=<O 75=5D4F>D4 =<65 

=>D<O (D<E. 5): 

1)  74>DOF<5 FD4=7<EF>D4 VT1;2)  >F>DOF<5 FD4=7<EF>D4 VT2; 

3)  74>DOF<5 EF45<?<FD>=4 VD1;4)  D>EF =4?DO65=<O =4 >?5<<5 «+» 

75=5D4F>D4; 

5)  ?445=<5 =4?DO65=<O =4 >?5<<5 «+» 75=5D4F>D4. 

15.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6 

 �<>4 vdr (D<E., 5) E?G6<F 4?O: 

1) 74M<FO FD4=7<EF>D4 VT2;2) ?>6OL5=<O =4456=>EF< D57G?OF>D4; 

3) 75=5D4F<< <<?G?LE>6 6OE>>>= G4EF>FO; 

4) G5F>>EF< ?5D5>?NG5=<O FD4=7<EF>D4 VT2; 

5) 74L5=<O F>>4 E4<><=4G>F<< 6 >5<>F>5 ��. 

16. �D<G<=O ?445=<O =4?DO65=<O =<65 =>D<O: 

1) <7=>E M5F>> 75=5D4F>D4;2) >5DO6 F5?< � � 75=5D4F>D4; 

3) >>D>F>>5 74<O>4=<5 F5?< �� =4 <4EEG;4) 6OE>4 <7 EFD>O D57G?OF>D4 

=4?DO65=<O; 
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5) >E?45?5=<5 =4FO65=<O D5<=O 75=5D4F>D4; 

6) =<7>4O G4EF>F4 6D4M5=<O >>?5=G4F>7> 64?4; 

7) 6OE>>4O G4EF>F4 6D4M5=<O >>?5=G4F>7> 64?4; 

8) D>EF E>?D>F<6?5=<O 6 F5?< >5<>F>< 6>75G645=<O 

17.�D<G<=O ?5D5=4?DO65=<O: 

1) <7=>E M5F>> 75=5D4F>D4;2) >5DO6 F5?< �� 75=5D4F>D4; 

3) >>D>F>>5 74<O>4=<5 F5?< �� =4 <4EEG;4) 6OE>4 <7 EFD>O D57G?OF>D4 

=4?DO65=<O; 

5) >E?45?5=<5 =4FO65=<O D5<=O 75=5D4F>D4; 

6) =<7>4O G4EF>F4 6D4M5=<O >>?5=G4F>7> 64?4; 

7) 6OE>>4O G4EF>F4 6D4M5=<O >>?5=G4F>7> 64?4; 

8) D>EF E>?D>F<6?5=<O 6 F5?< >5<>F>< 6>75G645=<O 

 

&5<4 8. %<EF5<4 746<74=<O 46<74F5?O. 

�4D<4=F 7 1 

1. �4><< FD55>64=<O< 4>?6=4 G4>6?5F6>DOFL E<EF5<4 746<74=<O 

46F><>5<?O? 

2. �4><5 E<EF5<O 746<74=<O 46F><>5<?O 6O 7=45F5? 

3. �5D5G<E?<F5 >E=>6=O5 ?D<5>DO >>=F4>F=>= E<EF5<O 746<74=<O. 

4. �47>6<F5 >E=>6=O5 ?D<5>DO 55E>>=F4>F=>= E<EF5<O 746<74=<O. 

5. �4><< FD55>64=<O< 4>?6=4 G4>6?5F6>DOFL >4FGL>4 746<74=<O? 

6. �?O G57> ?D54=47=4G5= ?D5DO64F5?L-D4E?D545?<F5?L? 

7. �?O G57> E?G6<F >>F4=->>DD5>F>D D4E?D545?<F5?O? 

8. �?O G57> ?D<<5=O5FEO F5=FD>556=O= D57G?OF>D D4E?D545?<F5?O? 

9. �?O G57> ?D<<5=O5FEO 64>GG<=O= D57G?OF>D D4E?D545?<F5?O? 

10. �?O G57> ?D54=47=4G5= 44FG<> D4E?D545?<F5?L 55E>>=F4>F=>= E<EF5<O 

746<74=<O? 

11. �?O G57> ?D54=47=4G5=O E65G< 746<74=<O? 
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12. �4><5 E65G< 746<74=<O 6O 7=45F5? 

13. �5D5G<E?<F5 >E=>6=O5 =5<E?D46=>EF< E<EF5<O 746<74=<O. 

14. �4><5 ?D<5>DO ?D<<5=ONFEO 4?O ?D>65D>< F5E=<G5E>>7> E>EF>O=<O < 

D57G?<D>6>< E<EF5<O 746<74=<O? 

�4D<4=F 7 2 

1.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6 

�>E??4<5=5=<5 D45>G5= E<5E< <E>D>=: 

1) 6OE>>>7> =4?DO65=<O;2) =<7>>7> =4?DO65=<O. 

�7> <EF>G=<>: 

3) 75=5D4F>D;4) 4>>G<G?OF>D;5) ?D5DO64F5?L;6) D4E?D545?<F5?L;7) >4FGL>4 

746<74=<O. 

2. %>EF46 >?4EE<G5E>>= E<EF5<O 746<74=<O: 

1) ���;2) 75=5D4F>D;3) >><<GF4F>D;4) >>=45=E4F>D;5) E65G< 746<74=<O; 

6) >4FGL>4 746<74=<O;7) ?D>6>44 =<7>>7> =4?DO65=<O; 

8) ?D5DO64F5?L-D4E?D545?<F5?L;9) ?D>6>44 6OE>>>7> =4?DO65=<O. 

3.'EF4=>6<F5 ?D46<?L=GN ?>E?54>64F5?L=>EFL 

 $45>F4 E<EF5<O 746<74=<O (D<E..1): 

1)  6D4M5=<5 >G?4G>4 9;2)  74<O>4=<5 >>=F4>F>6 7 < 8\ 

3)  D47<O>4=<5 >>=F4>F>6 7 < <?;4) > 6>7=<>=>65=<5 F>>4 6 >5<>F>5 5; 

5)  <EG57=>65=<5 <47=<F=>7> ?>?O;6)  6>7=<>=>65=<5 F>>4 6 >5<>F>5 4\ 

7)  6>7=<>=>65=<5 <47=<F=>7> ?>?O;8)  6>7=<>=>65=<5 <E>DO =4 E65G5 6. 

 

$<E. 1. �D<=F<?<4?L=4O EE5<4 >?4EE<G5E>>= E<EF5<O 746<74=<O 
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4.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6 

�>=45=E4F>D 10 (D<E.1) 74M<M45F: 

1) >>=F4>FO 7 < <?>F >57>D4=<O;2) >4FGL>G 746<74=<O >F ?D>5>O. 

�>7?>M45F M4E E4<><=4G>F<<: 

3) ?5D6<G=>= >5<>F><;4) 6F>D<G=>= >5<>F><. 

'EF4=>6?5= E >>=F4>F4<< 7 < £ 

5) ?4D4??5?L=>;6) ?>E?54>64F5?L=>. 

1) =<7>>7>;2) 6OE>>>7>. 

5.'EF4=>6<F5 E>>F65FEF6<5 

-?5<5=FO =4?DO65=<O: 

a) ���;b) >>=45=E4F>D;c) ?D5DO64F5?L;d) D4E?D545?<F5?L;e) E65G< 746<74=<O; 

f) ?5D6<G=4O >5<>F>4 >4FGL><;g) 6F>D<G=4O >5<>F>4 >4FGL><. 

6. $4>F>DO, 6?<ONM<5 =4 <E>D>>5D47>64=<5 6 E65G5: 

1) F5<?5D4FGD4;2) E>EF46 D45>G5= E<5E<;3) 446?5=<5 6 F<?<=4D5; 

4) 747>D <564G M?5>FD>44<<;5) >>?<G5EF6> M?5>FD>4>6 E65G<; 

6) 65?<G<=4 6F>D<G=>7> =4?DO65=<O; 

7. 'E?>6<O ?>O6?5=<O 6F>D<G=>7> =4?DO65=<O: 

1) >>=F4>FO 74<>=GFO;2) >>=F4>FO D47><>=GFO;3) >>=F4>FO D47<O>4NFEO; 

4) =4?<G<5 ?5D6<G=>7> F>>4;5) >FEGFEF6<5 ?5D6<G=>7> F>>4; 

6) <EG57=>65=<5 ?5D6<G=>7> F>>4. 

8. �5?<G<=4 6F>D<G=>7> =4?DO65=<O 746<E<F >F: 

1) 5<>>EF< >>=45=E4F>D4;2) 65?<G<=O ?5D6<G=>7> F>>4; 

3) G7?4 >?5D565=<O 746<74=<O;4) E4D4>F5D<EF<> >4FGL>< 746<74=<O; 

5) 747>D4 <564G >>=F4>F4<< ?D5DO64F5?O;6) G4EF>FO 6D4M5=<O >G?4G>4 

?D5DO64F5?O. 

9. �E>D4 6 F<?<=4D ?>445FEO ?D< =4E>645=<< ?>DL=O: 

1) 6 ��&;2) 4> ?D<E>44 6 ��&;3) ?>E?5 ?D>E>645=<O ��&. 

-F> D57G?<DG5FEO: 

4) ?D5464D<F5?L=>= GEF4=>6>>= G7?4 >?5D565=<O 746<74=<O; 

5) 46F><4F<G5E><< <7<5=5=<5< G7?4 >?5D565=<O 746<74=<O. 
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� 746<E<<>EF< >F: 

6) G4EF>FO 6D4M5=<O;7) =47DG7>< 46<74F5?O;8) F5??>6>7> E>EF>O=<O 

46<74F5?O. 

�D< ?><>M< D57G?OF>D4:  

9) 64>GG<=>7>;10) F5=FD>556=>7>;11)7<4D46?<G5E>>7>. 

10. �4 D<E. 2, 6 ?>>474=: 

1) 64>GG<=O= D57G?OF>D;2) F5=FD>556=O= D57G?OF>D. 

�= D57G?<DG5F: 

3) G7>? >?5D565=<O 746<74=<O;4) G4EF>FG 6D4M5=<O E>?>EF>7> E>44 

�4 EG5F: 

5) 7DG7>6 10,6) ?DG6<= 72;7) ??4EF<=O 23 < >G?4G>4 8. 

11. �>7<F<O<< 20, 27 (D<E. 2, 4, 6) G>474=: 

1) 64>GG<=O= D57G?OF>D;2) F5=FD>556=O= D57G?OF>D. 

�= D57G?<DG5F: 

3) G7>? >?5D565=<O 746<74=<O;4) G4EF>FG 6D4M5=<O E>?>EF>7> E>44 

�4 EG5F: 

5) FO7< 27;6) 745> 17; 7) 7DG7>6 10, 

8) >4<5DO 20; 

9) >>=F4>F=>= EF>=>< 7. 

12. $57G?<D>6>4 <><5=F4 746<74=<O 6 746<E<<>EF< >F =47DG7>< 46<74F5?O 

($�%..2): 

1) EF>=>>= 7;2) >4<5D>= 20;3) 74=>4<< 77;4) 7DG74<< 10",5) 557G=>>< 2. 

13. �>DD5>F<D>6>4 G7?4 >?5D565=<O 746<74=<O ?> >>F4=>6><G G<E?G 55=7<=4 

(D<E. 2): 

1) EF>=>>= 7;   2) >4<5D>= 20,   3) 74=>4<< 17;   4) 7DG74<< 10,    5) 557G=>>< 2. 

14. �5F4?< 2 (D<E. .2): 

1) ?D5DO64NF ?5D6<G=GN F5?L;2) ?D5DO64NF 6F>D<G=GN F5?L; 

3) D4E?D545?ONF <E>DG ?> E65G4<; 4) ?5D544NF 6OE>>>5 =4?DO65=<5; 

5) D57G?<DGNF G7>? >?5D565=<O 746<74=<O. 

15. �>=F4>F=O= 5>?F 30 (D<E.2) <7>?<D>64= >F: 
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1) «<4EEO»;2) >>=45=E4F>D4;3) >4FGL>< 746<74=<O;4) >>=F4>F>6 ?D5DO64F5?O. 

%>54<=5= E 

5) «<4EE>=»;6) >>=45=E4F>D><;7) >4FGL>>= 746<74=<O;8) >>=F4>F4<< 

?D5DO64F5?O. 

 

$<E. 2. �D5DO64F5?L-D4E?D545?<F5?L 

16. �>=F4>F <564G >DOL>>= 1 (D<E..2) < D>F>D>< 2 6> 6F>D<G=>= F5?< 

?>ED54EF6><: 

1) 7D4D<F=OE M5F>>;2) G7>?L=>7> EF5D6=O;3) 6>74GL=>7> 747>D4; 

4) <54=>7> ?D>6>4=<>4;5) E<?<>>=>6>= ?D>>?44><. 

17. &5??>64O E4D4>F5D<EF<>4 E65G< >F5=<645FEO: 

1) >4?<?L=O< G<E?><;2) D45>G5= F5<?5D4FGD>= 46<74F5?O; 

3) F5<?5D4FGD>= E4<>>G<M5=<O E65G<. 

�?<O5F =4: 

4) >4?<?L=>5 746<74=<5;5) 45F>=4F<N 46<74F5?O; 

6) >5D47>64=<5 =474D4 =4 F5??>6>< >>=GE5. 

�46<EF< >F 4?<=O: 

7) <7>?OF>D4;8) F5??>6>7> >>=GE4;9) D57L5>6>= G4EF< >>D?GE4. 

18. 'EF4=>6<F5 E>>F65FEF6<5 

�4D><D>6>4 E65G< 746<74=<O 4 1746-10. 

E<<6>?O              �5>7=4G5=<5 
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1 )�  

2) 17;  

3 )�  

4) B; 

5) 10. 

A. �4?<?L=>7> G<E?4.  

B. $57L5O =4 >>D?GE5. 

C. �><5D4 >>=EFDG>F<6=>= D47D45>F><. 

D. �OEFG?4=<O F5??>6>7> >>=GE4 <7>?OF>D4 74 F>D5F >>D?GE4. 

E. �?<=O D57L5>6>= G4EF< >>D?GE4. 
 

19. �5>7=4G5=<5 4?<=O D57L5>6>= G4EF< >>D?GE4: E<<6>? 4?<=4, << 

1) �;                       4. 11. 

2) �;                       5. 12,7. 

3) %;                       E. 19. 

4) 557 E<<6>?4.      d. 12. 

20.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6 

 �5?<G<=4 6F>D<G=>7> =4?DO65=<O 6 >?4EE<G5E>>= E<EF5<5, >6: 

a) 10-12;b) 15-20;c) 4> 30;d) 4> 50. 

21. �>?>?=<F5?L=>5 E>?D>F<6?5=<5 5 (D<E.3): 

1) LG=F<DG5FEO ?D< ?GE>5 46<74F5?O; 

2) 74M<M45F >4FGL>G 746<74=<O >F ?5D57D564; 

3) «E=<<45F» -�% E4<><=4G>F<< ?5D6<G=>= >5<>F><; 

4) E=<645F =4?DO65=<5 6 >4FGL>5 ?D< D45>F5 46<74F5?O; 

5) ?>6OL45F =4?DO65=<5 6 >4FGL>5 ?D< ?GE>5 46<74F5?O. 

 

&5<4 9 %F4DF5D. �D<5>DO >E65M5=<O < E65F>6>= E<7=4?<74F<< 

�4D<4=F 7 1 
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1. �5D5G<E?<F5 >E=>6=O5 FD55>64=<O, ?D54NO6?O5<O5 > E<EF5<5 ?GE>4 

46<74F5?O. 

2. '5< >F?<G4NFEO M?5>FD>?GE>>6O5 E<EF5<O >4D5ND4F>D=OE < 

4<75?L=OE 46<74F5?5=? 

3. �5D5G<E?<F5 >E=>6=O5 M?5<5=FO M?5>FD>?GE>>6>= E<EF5<O. 

4. �4>>5 GEFD>=EF6> <<55F EF4DF5D 46F><>5<?O? 

5. �4> >EGM5EF6?O5FEO 74F5??5=<5 < D4EF5??5=<5 EF4DF5D4 < 46<74F5?O? 

6. �?O G57> ?D<<5=O5FEO <GDF4 E6>5>4=>7> E>44? 

7. �4><5 5O64NF <GDFO E6>5>4=>7> E>44? 

8. �4><5 6O 7=45F5 EE5<O M?5>FD>?GE>>6OE E<EF5<? 

9. �4><5 GEFD>=EF64 4?O >5?57G5=<O ?GE>4 E>?>4=>7> 46<74F5?O 6O 

7=45F5? 

10. �5D5G<E?<F5 GEFD>=EF64 >5?57G4NM<5 ?GE> 4<75?5=. 

11. �4><5 GEFD>=EF64 ?D<<5=ONFEO 4?O >5?57G5=<O ?GE>4 >4D5ND4F>D=OE 

46<74F5?5=? 

12. �4><5 GEFD>=EF64 ?D<<5=ONFEO 4?O ?>4>7D564 46<74F5?O? 

13. �?O G57> ?D<<5=O5FEO ?D54?GE>>6>= ?>4>7D564F5?L? 

14. �5D5G<E?<F5 D45>FO ?D< &�-2 M?5>FD>?GE>>6>= E<EF5<O. 

15. �E=>6=O5 =5<E?D46=>EF< E<EF5<O ?GE>4 46<74F5?O. 

16. �4><5 5O64NF 76G>>6O5 E<7=4?<74F>DO? 

17. �5D5G<E?<F5 =5<E?D46=>EF< 76G>>6OE E<7=4?<74F>D>6 

18. �5D5G<E?<F5 =5<E?D46=>EF< D5?5 E<7=4?<74F>D>6. 

19. �4><5 5O64NF EF5>?>>G<EF<F5?<? 

20. �4><5 5O64NF D4DO >G<EF<F5?<? 

21. �45 <E?>?L7G5FEO M?5>FD>?D<6>4 =4 46F><>5<?5? 

22. �4><5 M?5>FD>46<74F5?< ?D<<5=ONFEO =4 46F><>5<?OE? 

23. �5D5G<E?<F5 >E=>6=O5 =5<E?D46=>EF< M?5>FD>46<74F5?5= 

24. &5E=<G5E>>5 >5E?G6<64=<5 M?5>FD>46<74F5?5=. 

 

�4D<4=F 7 2 
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1. �GE>>64O G4EF>F4 6D4M5=<O 

�5=7<=>6>7> 46<74F5?O, >5/<<=: 

1)40-80;  2) 80-90;   3) 90-100; 4)150-250;  5) 250-300. 

�<75?L=>7> 46<74F5?O, >5/<<=: 

6) 40-80;   7) 80-90;  8) 90-100;  9)150-250;   10) 250-300. 

2.'EF4=>6<F5 E>>F65FEF6<5 

'7?O EF4DF5D4  

a) >>=F4>F=O= 4<E>; 

b) M?5>FD>46<74F5?L; 

c) <GDF4 E6>5>4=>7> E>44; 

d) >5<>F>4 6FO7<64NM57> D5?5; 

e) E5D45G=<> 6FO7<64NM57> D5?5; 

�>7<F<O =4 D<E. 

1: 

2 

3 

4 

6 

7 

8 

 

$<E. %E5<4 EF4DF5D4 

3. $45>F4 EF4DF5D4 (D<E.): 

1)  <4E>6<> 5;2)  6>?NG4F5?L3)  >>=F4>FO 7 < 8;4)  M?5>FD>46<74F5?L 6; 

5)  E5D45G=<> 3 < <GDF4 4. 

4.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6 

 �4FGL>4 6 (D<E. ) E>45D6<F >5<>F><: 

1) D477>=ONMGN;2) 6FO7<64NMGN;3) G45D6<64NMGN. 

�D><76>4<F: 

4) 5?>><D>6>G 6>?NG5=<O;5) 74<O>4=<5 >>=F4>F>6 4  6) ?5D5<5M5=<5 DOG474 

,, 

1) ?5D5<5M5=<5 >>?LF4 /7, <GDFO 15 < L5EF5D=< 14. 
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$<E. %F4DF5D CT-I30-A3 

5. �DG6<=4 16 (D<E.) ?D< GFO>4=<< L5EF5D=< 14 6 7G5LO <4E>6<>4 ?>76>?O5F: 

1) ?D54>ED4=<FL >5<>F>< >F ?5D5=4?DO65=<O; 

2) 74<>=GFL >>=F4>FO ?<F4=<O M?5>FD>46<74F5?O; 

3) 4>E?4FL L5EF5D=N 14 6 74F5??5=<5 E <4E>6<>><; 

4) >F>?NG<FL L5EF5D=N 14 >F <4E>6<>4 ?>E?5 ?GE>4. 

6. �GDF4 5 (D<E.): 

1) ED4?>64O;2) D>?<>>64O;3) L4D<>>64O;4) ?5D5<5M45F DOG47 10; 

5) 6D4M45FEO ?D< ?5D5<5M5=<<;6) =5 6D4M45FEO ?D< ?5D5<5M5=<<; 

7) ?5D5445F <><5=F E 64?4 M?5>FD>46<74F5?O =4 <4E>6<>; 

8) >F>?NG45F 64? M?5>FD>46<74F5?O >F <4E>6<>4 ?>E?5 ?GE>4; 

7. �O?5F L5EF5D=< 14 (D<E.) D57G?<DG5FEO: 

1) 6<=F>< 8;2) 6<=F>< 11;3) <GDF>= 15;4) >>?LF>< 17;5) ?>?NE4<< 3. 

8. �EE>4=>5 ?>?>65=<5 L5EF5D=< 14 (D<E.) D57G?<DG5FEO: 

1) 6<=F>< 8;2) 6<=F>< 11;3) <GDF>= 15;4) >>?LF>< 17;5) ?>?NE4<< 3. 

9. �>??5>F>D M?5>FD>46<74F5?O =4 D<E. �5>7=4G5= ?>7<F<5=: 

a) 1;   b) 2; E)3;  d) 19;   5) 21. 

10. �4<5>?55 <7=4L<645<O5 G4EF< EF4DF5D4: 

1) >>??5>F>D;2) >5<>F>< O>>DO;3) >5<>F>< 6>75G645=<O;4) <GDF4 E6>5>4=>7> 

E>44; 

5) E5D45G=<> 6FO7<64NM57> D5?5. 

11. $45>F4 E<EF5<O ?GE>4 (D<E.) 

1)  >>=F4>FO 4;                    4) 74<>> 746<74=<O 2; 
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2)  D5?5 EF4DF5D4 6;                    5) M?5>FD>46<74F5?L 1; 

3)  4<E> 5 < <GDF4 7;                    6) 4>?>?=<F5?L=>5 D5?5 3. 

 

$<E. %<EF5<4 ?GE>4 

12. '>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6 

�>?>?=<F5?L=>5 D5?5 3 (D<E.): 

1) 74M<M45F >>=F4>FO 74<>4 2;2) G65?<G<645F <>M=>EFL EF4DF5D4; 

3) LG=F<DG5F >4FGL>G 746<74=<O ��; 

4) G65?<G<645F =4?DO65=<5 >4FGL>< 746<74=<O ��; 

5) G65?<G<645F G4EF>FG 6D4M5=<O M?5>FD>46<74F5?O 1. 

13. �4<O>4=<5 >>=F4>F>6 4 4<E>>< 5 (D<E.): 

1) 6>?NG45F M?5>FD>46<74F5?L 1;2) LG=F<DG5F >4=G <7 >5<>F>> 6; 

3) >F>?NG45F M?5>FD>46<74F5?L 1;4) >F>?NG45F 4>?>?=<F5?L=>5 D5?5 3; 

5) LG=F<DG5F 4>?>?=<F5?L=>5 E>?D>F<6?5=<5 >4FGL>< ��. 

14. %D54EF64 >5?57G5=<O ?GE>4 E>?>4=>7> 46<74F5?O: 

1) EGE>= E?<DF;2) ?GE>>6O5 ?>4>7D564F5?< 46<74F5?O; 

3) ?57>>6>E??4<5=ONM<5EO 6<4>>EF<;4) E65G< ?>4>7D564 6?GE>=>7> 6>74GE4; 

5) M?5>FD>D4>5?L=O= ?>4>7D56 6?GE>=>7> 6>74GE4. 

15.'EF4=>6<F5 ?D46<?L=GN ?>E?54>64F5?L=>EFL 

 $45>F4 M?5>FD>D4>5?L=>7> GEFD>=EF64 ($�%.): 

1) > 6>?NG5=<5 >=>?>< 2;2) > 6>?NG5=<5 >=>?>< 4; 

3)  =47D56 F5D<>D5?5 6 < E65G5= 7;4)  6>?NG5=<5 EF4DF5D4 < D5?5 10 

5)  ?5D5>?NG5=<5 >>=F4>F>6 D5?5 3;6) > 6>?NG5=<5 ?5D5>?NG4F5?O S 6 

?>?>65=<5 /; 
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7)  6>?NG5=<5 ?5D5>?NG4F5?O S 6 ?>?>65=<5 II; 

8)  6>?NG5=<5 >?4?4=4 9 < >>=FD>?L=>= ?4<?O 8. 

16.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6 

$5?5 5 (D<E.) %?G6<F 4?O: 

1) ?>4>7D564 F>??<64;2) 6>?NG5=<O EF4DF5D4; 3) >F>?NG5=<O 75=5D4F>D4; 

4) ?>44G< 6>74GE4 6 F<?<=4DO;5) ?D54>ED4=5=<O E65G5= =4>4?<64=<O. 

17. �=>?>4 2 (D<E.) %?G6<F 4?O 6>?NG5=<O: 

1) D5?5 3\2) EF4DF5D4;3) «<4EEO» ���;4) ?>4E65F>< ?D<5>D>6; 

5) 464D<==>= E<7=4?<74F<<. 

18. $5?5 10. 

1) 6>?NG45F D5?5 5;2) LG=F<DG5F D5?5 6.3) ?>445D6<645F =4?DO65=<5 =4 

E65G4E 7 

�5?45F MF>: 

4) 4> ?GE>4 46<74F5?O; 

5) 6 <><5=F ?GE>4 46<74F5?O. 

 

 

$<E 5 

19.'EF4=>6<F5 ?D46<?L=GN ?>E?54>64F5?L=>EFL 

 $45>F4 ?GE>>6>7> ?>4>7D564F5?O (D<E. 5): 

1)  >F>?NG5=<5 >><<GF4F>D4 4; 

2)  6>?NG5=<5 ?5D5>?NG4F5?O 1 6 ?>?>65=<5; 
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3)  6>?NG5=<5 ?5D5>?NG4F5?O 1 6 ?>?>65=<5; 

4)  6>?NG5=<5 ?5D5>?NG4F5?O 1 6 ?>?>65=<5; 

5)  6>E??4<5=5=<5 F>??<64 6 >>F?5 ?>4>7D564F5?O; 

6)  6>?NG5=<5 =4E>E=>7> 47D574F4 7 < ?>4>7D564F5?O F>??<64 5; 

7)  >F>?NG5=<5 ?>4>7D564F5?O 5, 6>?NG5=<5 >?4?4=4 6 < >><<GF4F>D4 4. 

20. � ?>?>65=<< ii ?5D5>?NG4F5?O 1 (D<E. 5) =4E>E=O= 47D574F 7: 

1) D45>F45F;2) =5 D45>F45F 

&>??<6>: 

3) ?>4>7D5645FEO;4) =5 ?>4>7D5645FEO. 

%7>D4=<5 6 >>F?5: 

5) ?D><EE>4<F;6) =5 ?D><EE>4<F. 

 

$<E. 5. %E5<4 ?D54?GE>>6>7> ?>4>7D564F5?O ���-30 

21. &D4=7<EF>D=O= >><<GF4F>D 4 (D<E 5): 

1) ?<F45FEO >F ���;2) ?>4>7D5645F F>??<6>;3) ?<F45FEO >F 75=5D4F>D4; 

4) G?D46?O5FEO ?5D5>?NG4F5?5<7;5) E>7445F D47DO4O 6OE>>>7> =4?DO65=<O =4 

E65G5 8. 

 

&5<4 10. �>=FD>?L=>-<7<5D<F5?L=O5 ?D<5>DO. �D5??5=<O 46<74F5?O > >G7>6G 

46F><>5<?O. 

�4D<4=F 7 1 

1. �4><5 >>=EFDG>F<< >>=FD>?L=>-<7<5D<F5?L=OE ?D<5>D>6 ?D<<5=ONFEO 

=4 46F><>5<?5? 
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2. �4><<< ?D5<<GM5EF64<< >5?444NF ?>7><5FD<G5E><5 >>=FD>?L=>- 

<7<5D<F5?L=O5 ?D<5>DO? 

3. �> >4>><G ?D<=F<?G D47<5M4NFEO >>=FD>?L=>-<7<5D<F5?L=O5 

?D<5>DO < E<7=4?<74F>DO =4 ?D<5>D=>= ?4=5?< 46F><>5<?O? 

4. % >4>>= F5?LN =4 46F><>5<?5 ?D<<5=O5FEO 5>DF>64O E<EF5<4 >>=FD>?O? 

5. �4><5 4<47=>EF<G5E><5 ?4D4<5FDO <>6=> ?D>65DOFL E ?><>MLN 

E<EF5<O 6EFD>5==>= 4<47=>EF<><? 

6. �4>GN <=D>D<4F<N ?>?GG45F 6>4<F5?L E ?><>MLN 5>DF>6>7> 

>><?LNF5D4? 

7. �4> =47O64NFEO ?D<5>DO 4?O <7<5D5=<O 446?5=<O? 

8. �4><5 ?D<5>DO ?D<<5=ONFEO 4?O >>=FD>?O 74DO4=>7> D56<<4? 

9. �4> =47O64NFEO ?D<5>DO 4?O <7<5D5=<O E>>D>EF< 46<65=<O 

46F><>5<?O < G4EF>FO 6D4M5=<O >>?5=G4F>7> 64?4 46<74F5?O? 

�4D<4=F 7 2 

1. �<4O ><?: 

1) ?D>O6?ONM<5;     2) G>47O64NM<5;    3) M?5>FD<G5E><5;       4) <<<F<DGNM<5

;               

5) <7<5D<F5?L=O5;  6) ?>>47O64NM<5; 7) D4EE>47O64NM<5;   8) 

>>=FD>?<DGNM<5; 

9) E<7=4?<7<DGNM<5; 10) 45<>=EFD<DGNM<5. 

2. �DG??O 46F><>5<?L=OE ><?: 

1) >4><5FDO; 2) 54D><5FDO; 3) F4E><5FDO; 4) <4=><5FDO; 5) F5D<><5FDO; 

 6) F4>E><5FDO;  7) 6>?LF<5FDO; 8) GD>6=5<5DO; 9) 4<?5D<5FDO; 10) 

E?<4><5FDO. 

3. 'EF4=>6<F5 E>>F65FEF6<5 

�D<5>D <7<5DO5<O= ?4D4<5FD: 

1) >4><5FD;                        %. �46?5=<5. 

2) F4E><5FD;                      D. �4DO4=O= F>>. 

3) <4=><5FD;                     �. �D>=45==O= ?GFL. 
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4) 4<?5D<5FD;                   F. '4EF>F4 6D4M5=<O. 

5) E?<4><5FD.                   G. %>>D>EFL 46<65=<O. 

4.�>?>?=<F5 

 '>47O64NM<5 ><? 6>?NG4NF 6 E55O 44FG<> < 

A. �4<O>4=<5. B. $47<O>4=<5. C. �7<5=5=<5 E<?O F>>4. D. �7<5=5=<5 

E>?D>F<6?5=<O. 

5.'EF4=>6<F5 E>>F65FEF6<5 44FG<>< E>744NF 6 F5?< ><?: 

1) G>474F5?O; 2) E<7=4?<74F>D4. 

6.$45>F4 44FG<>4 (D<E. 1): 

1)  747>D4=<5 ?4<?O 10, 2) 45D>D<4F<O ??4EF<=O 4 

3) > 74<O>4=<5 >>=F4>F>6 5 < 7; 4) =47D56 >E?4644NM5= 6<4>>EF<. 

 

$<E. 1. �4FG<> E<7=4?<74F>D4 F5<?5D4FGDO 

7. &>> F5?< ?<F4=<O >>=FD>?L=>= ?4<?O 44FG<>4 (D<E. 1): 

1) 6O6>4 1;                       6) ??4EF<=4 4; 

2)  ?4<?4 10;                    7) 6>?NG4F5?L s; 

3)  >>=F4>F 5;                    8) «+» 4>>G<G?OF>D4; 

4)  >>=F4>F 7;                    9) «-» 4>>G<G?OF>D4; 

5)  ??4EF<=4 9.                 10) «<4EE4» 46F><>5<?O. 

8. '>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6: 

'G6EF6<F5?L=O= M?5<5=F 44FG<>4 ?>7><5FD<G5E>>7> F5D<><5FD4 (D<E.2): 

1) 6O6>4 5;                    5) D57<EF>D RT, 

2) 6FG?>4 2;                    6) F5D<>D57<EF>D 1; 

3) <47=<F 12;                 7) ?4FG==O= 54??>= 4; 

4) D57<EF>D R4;                    8) F>>>654GM4O ?DG6<=4 . 

$547<DG5F =4: 
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9) 446?5=<5;                    11) G4EF>FG 6D4M5=<O; 

10) F5<?5D4FGDG;            12) E<?G 74DO4=>7> F>>4. 

�7<5=O5F: 

13) F>> F5?<; 

14) 74DO4=O= F>>; 

15) E6>5 E>?D>F<6?5=<5; 

16) F5<?5D4FGDG E<EF5<O >E?4645=<O. 

9. $57<EF>D rt (D<E.2) GEF4=46?<645FEO 4?O: 

1) E5F5= =4?DO65=<5< 12 �; 

2) E5F5= =4?DO65=<5< 24 �; 

3) M>>=><<< M?5>FD>M=5D7<<; 

4) F5<?5D4FGD=>= >><?5=E4F<<; 

5) ?>6OL5=<O F>G=>EF< ?>>474=<=. 

 

$<E 2. 

10. $57<EF>D rr (D<E. 2) GEF4=46?<645FEO 4?O: 

1) E5F5= =4?DO65=<5< 12 �; 2) E5F5= =4?DO65=<5< 24 �; 

3) G=<D<>4F<< G>474F5?5=; 4) M>>=><<< M?5>FD>M=5D7<<; 

5) E>744=<O D57G?LF<DGNM57> <47=<F=>7> ?>F>>4. 

11. �>?>65=<5 EFD5?>< G>474F5?O (D<E.2) >?D545?O5FEO <47=<F=O< ?>?5<: 

1) >4FGL>< W1;                    4) D57<EF>D4 Ra; 

2) >4FGL>< W2                    5) D57<EF>D4 R&, 

3) >4FGL>< W3,                    6) 4<?5D<5FD4 �. 
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$57G?LF<DGNM<= 65>F>D >>F>DOE 6>745=EF6G5F =4: 

7) >4D>4E 9; 

8) <47=<F 6; 

9) >7D4=<G<F5?L 8. 

12. 'G6EF6<F5?L=O= M?5<5=F 44FG<>4 <4=><5FD4 (D<E.3): 

1) 4N74 13', 4) ?>?7G=>> 5; 

2) DOG47 ,, 5) <5<5D4=4 2; 

3) D5>EF4F 4\ 6) ?DG6<=4 9. 

 

$<E. 3. -?5>FD<G5E><= <4=><5FD: 4 4 

D5>EF4F=O= 44FG<>;  

5 4 EE5<4 ?>7><5FD<G5E>>7> G>474F5?O 

13.'EF4=>6<F5 ?D46<?L=GN ?>E?54>64F5?L=>EFL D45>FO M?5>FD<G5E>>7> 

<4=><5FD4 D<E.3 

1)  ?5D5<5M5=<5 ?>?7G=>4 5; 2)  G65?<G5=<5 446?5=<O <4E?4; 

3)  G65?<G5=<5 ?D>7<54 <5<5D4=O 2; 4)  ?5D5<5M5=<5 EFD5?>< G>474F5?O; 

5)  G<5=LL5=<5 E>?D>F<6?5=<O D5>EF4F4 4 

6)  G<5=LL5=<5 F>>4 6 >4FGL>5 W1 < 6>7D4EF4=<5 6 W2 W3 

7)  <7<5=5=<5 =4?D46?5=<O 45=EF6<O EG<<4D=>7> <47=<F=>7> ?>F>>4. 

14. '>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6:F<? ?D<6>4>6 E?<4><5FD>6: 

1) M?5>FD>==O=;          3) M?5>FD<G5E><=;              5) ?=56<4F<G5E><=; 

2) <5E4=<G5E><=;        4) 7<4D46?<G5E><=;            6) M?5>FD><47=<F=O=.              

15. $45>F4 E?<4><5FD4 E <5E4=<G5E><< ?D<6>4>< (D<E. 4, 4): 

1)  >EL 8;      2)  64?<> 7;       3)  EFD5?>4 77;        4) <47=<F 5;        5) >4DFGL>4 6. 

16. $45>F4 E?<4><5FD4 E M?5>FD<G5E><< ?D<6>4>< (D<E. 4, 5): 
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1) > D>F>D 44FG<>4; 2)  D>F>D G>474F5?O; 3)  FD4=7<EF>DO VT1 VT2 VT3 

4)  -�% >5<>F>> EF4F>D4 44FG<>4; 5)  -�% >5<>F>> EF4F>D4 G>474F5?O; 

6)  <47=<F=>5 ?>?5 EF4F>D4 G>474F5?O. 

17.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6: 44FG<> E?<4><5FD4 =4 D<E.4, 5 

?D<6>4<FEO >F: 

1) >4D44==>= ?5D544G<; 2) >>?5=G4F>7> 64?4 46<74F5?O; 

3) 654><>7> 64?4 >>D>5>< ?5D544G; 4) D4E?D545?<F5?L=>7> 64?4 46<74F5?O; 

5) 654><>7> 64?4 D4744F>G=>= >>D>5><. 

 

$<E.4. %?<4><5FD: 4 4 E ?D<6>4>< >F 7<5>>7> 64?4; 5 4 

EE5<4 E?<4><5FD4 E M?5>FD<G5E><< ?D<6>4>< 

18. ,4=54 4 =4 D<E.4, 4: 

1) 74M<M45F <47=<F 5;  2) O6?O5FEO D57G?<D>6>G=>=; 

3) G??>F=O5F ?>?>EFL >4DFGL><;  4) O6?O5FEO F5D<>>><?5=E4F>D><; 

5) G65?<G<645F <47=<F=O= ?>F>> G5D57 >4DFGL>G. 

19. $57<EF>DO r1 - r6 =4 D<E.4, 5: 

1) O6?ONFEO F5D<>>><?5=E4F>D4<<; 

2) <E?>?L7GNFEO 6 E5FOE =4?DO65=<5< 24�; 

3) 74M<M4NF >5<>F>< 44FG<>4 >F ?5D5=4?DO65=<O; 

4) G?GGL4NF GE?>6<O ?5D5>?NG5=<O FD4=7<EF>D>6; 

5) 74M<M4NF >5<>F>< G>474F5?O >F ?5D5=4?DO65=<O. 

20. &4E><5FDO E M?5>FD>?D<6>4>< D57<EFD<DGNF <<?G?LEO: 

1) >4=>= <7 D47 75=5D4F>D4;  2) ?5D6<G=>= F5?< E<EF5<O 746<74=<O; 

3) 6F>D<G=>= F5?< E<EF5<O 746<74=<O;  4) F5?< 74DO44 4>>G<G?OF>D=>= 

54F4D5<; 
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5) E?5F<4?L=>7> 44FG<>4 =4 >>?5=G4F>< 64?5. 

21. �>>474=<O F4E><5FD4 (D<E.5) 746<EOF >F: 

1) E>>D>EF< 46<65=<O 46F><>5<?O;  2) 6D5<5=< D47DO44 >>=45=E4F>D4 %5; 

3) G4EF>FO 6D4M5=<O >>?5=G4F>7> 64?4;  4) ?5D5>?NG5=<O FD4=7<EF>D>6 VT1 < 

VT2\ 

5) 4?<F5?L=>EF< <<?G?LE>6 F>>4 G5D57 G>474F5?L 4. 

 
$<E 5 

�4D<4=F 7 3 

1. �D<5>DO, >5O74F5?L=O5 4?O 6E5E 46F><>5<?5=: 

1) 7454D<F=O5 >7=<; 2) G>474F5?< ?>6>D>F4; 3) D>=4DL 744=57> E>44; 

4) E<7=4?O F>D<>65=<O; 5) D4DO 44?L=57> E65F4; 6) D4DO 5?<6=57> E65F4; 

7) E65F>6>76D4M5F5?<; 8) ?D>F<6>FG<4==O5 D4DO; 

9) D>=4D< >E65M5=<O 54746=>7> >FE5>4; 10) D>=4DL >E65M5=<O =><5D=>7> 

7=4>4; 

11) 4>?>?=<F5?L=O= E<7=4? F>D<>65=<O. 

2. &<?O E<EF5< E65F>D4E?D545?5=<O: 

1)47<4FE>4O; 2)56D>?5=E>4O; 3) 4DD<>4=E>4O; 4) 4<5D<>4=E>4O; 

5)46EFD4?<=E>4O. 

3. �<=<<4?L=>5 D4EEF>O=<5 >E65M5=<O D4D4<< (<): 

1)30;    2) 50;    3) 76;     4)100;     5) 200;     6) 300. 

4. 'EF4=>6<F5 E>>F65FEF6<5. '5F>4O E65F>F5=564O 7D4=<F4 5?<6=57> E65F4: 
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1) 56D>?5=E>4O E<EF5<4;                    �. <<55F; 

2) 4<5D<>4=E>4O E<EF5<4;                 �. =5 <<55F. 

5. %65F>D4E?D545?5=<5 

1)56D>?5=E>>5; 

2) 4<5D<>4=E>>5; 

�E?5??5=<5 6EFD5G=>7> 

6>4<F5?O: 

A. <E>?NG45F; 

B. =5 <E>?NG45F. 

6.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6.%?>E>5 D54?<74F<< 

E65F>D4E?D545?5=<O: 

1) 46GED4D=O=; 2) FD5ED4D=O=;3) M5EF<D4D=O=; 

4) <=>7>D4D=O=;5) G5FOD5ED4D=O=. 

7. �>?>?=<F5, <E?>?L7GO D<E.1 

�FD464F5?L (?>7. 7 __), D4EE5<64F5?L (?>7.7___) < ?4<?4 (?>7. 7___)  

E>EF46?ONF ________M?5<5=F. 

 

$<E.1. �>?>6=4O D4D4 

8. $57G?<D>6>4 =4?D46?5=<O E65F4 D4DO >EGM5EF6?O5FEO 6<=F4<< ($<E.1): 

a) 3       b) 12;     c) 13. 

9. �D5??5=<5 >?F<G5E>>7> M?5<5=F4 (D<E.1): 

1) 6<=F>< 3   2) 6<=F>< 12   3) 6<=F>< 13  4) ?D<6<<>< 9,  5) >>?>4>>= 10. 
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10. �<FL 44?L=57> E65F4 6 ?4<?5 D4DO: 

1) E=4565=4 M>D4=><;  2) 6 D>>GE5 >FD464F5?O;  3) 6OL5 >?F<G5E>>= >E<; 

4) 64>?L >?F<G5E>>= >E<;  5) E<5M5=4 =4744 >F=>E<F5?L=> D>>GE4; 

6) E<5M5=4 6?5D54 >F=>E<F5?L=> D>>GE4. 

11. �<FL 5?<6=57> E65F4 6 ?4<?5 D4DO: 

1) E=4565=4 M>D4=><;  2) 6 D>>GE5 >FD464F5?O;  3) 6OL5 >?F<G5E>>= >E<; 

4) 64>?L >?F<G5E>>= >E<;  5) E<5M5=4 =4744 >F=>E<F5?L=> D>>GE4; 

6) E<5M5=4 6?5D54 >F=>E<F5?L=> D>>GE4. 

12. �4D><D>6>4 E65F>6OE ?D<5>D>6 6>?NG45F: 

1) D56<< E65F4;  2) =47=4G5=<5 ?D<5>D4;  3) 4<4<5FD >FD464F5?O; 

4) <4>E<<4?L=GN E<?G E65F4;  5) ?D<<5=5=<5 74?>75==OE ?4<?; 

6) =><5D >D<F<4?L=>7> GF65D645=<O;  7) =47=4G5=<5 EF>D>=O 46<65=<O 

(EFD5?>4); 

8) =><5D EFD4=O, 6O446L5= >D<F<4?L=>5 GF65D645=<5; 

9) >5>7=4G5=<5 F5?L=>EF5>?O==>7> >?F<G5E>>7> M?5<5=F4. 

13. %FD5?>4 6 <4D><D>6>5 =5 EF46<FEO =4: 

1) D>=4DOE 744=57> E>44;  2) D4D4E G=<65DE4?L=OE;   

3) D4D4E ?56>EF>D>==57> 46<65=<O;  4) D4EE5<64F5?OE E<7=4?4 F>D<>65=<O; 

5) D4D4E ?D46>EF>D>==57> 46<65=<O. 

14.'EF4=>6<F5 E>>F65FEF6<5 E65F>F5E=<G5E><5 ?D<5>DO >5>7=4G5=<5: 

1) ?4<?4-D4D4; 

2) ?>4D4D=<><; 

3) D4D4 44?L=57> E65F4; 

4) D4D4 5?<6=57> E65F4; 

I.  �. 

II. %. 

III. /. 

IV. S. 
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5) 74?>75==O= <EF>G=<>; 

6) ?D>F<6>FG<4==O5 D4DO. 

V. �. 

VI. R. 
 

15.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6 

 �4?>?=5=<5 >>?5O 74?>75==>= ?4<?O: 

1) =>4;  2) 5D><;   3)4D7>=;   4) >E5=>=;  5) 64>GG<;   6)>D<?F>=;  7) ><E?>D>4; 

8) 5D><<EFO= <5F<?. 

16. �E5=>=>64O ?4<?4: 

1) =4>4?<64=<O;   2) 747>D47DO4=4O;   3) 46GEM?5>FD>4=4O;  4) >4=>M?5>FD>4=4O; 

5) 74?>?=5=4 >E5=>=><;  6) 74?>?=5=4 E?>D<44<< <5F4??>6. 

17.'EF4=>6<F5 E>>F65FEF6<5  �47=4G5=<5 ?>7<F<O =4 D<E. 2: 

1) E>D<F=4O; 

2) ?4?LG<>>64O; 

3) >5OG=4O D4DO; 

4) >4=>=<F564O LF<DF>64O; 

5) 46GE=<F564O LF<DF>64O; 

6) 74?>75==4O >4F57>D<O HI; 

7) 74?>75==4O >4F57>D<O ��; 

8) 74?>75==4O D4DO (>4F57>D<O �4). 

A. 4. 

B. 5. 

C. 6. 

D. 7. 

E. 4. 

F. 5. 

G. 6. 

H. 7. 
 

18.�4<<5=>64=<5 M?5<5=F4 

1) M>D4=; 

2) >>?54; 

3) F>>>?L; 

�>7<F<O =4 D<E.2 

A. 1. 

B. 2. 

C. 3. 

4) 6O6>4O; 

5) =<FL 44?L=57> E65F4; 
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6) =<FL 5?<6=57> E65F4; 

7) D>>GE<DGNM<= D?4=5F. 

19. %<<6>?O ?4<?O 4 12-45+40 G>47O64NF: 

1)�; 

2) 12; 

3) 45; 

4) 40. 

A. �6F><>5<?L=4O. 

B. �><<=4?L=>5 =4?DO65=<5. 

C. �>M=>EFL =<F< 44?L=57> E65F4. 

D. �>M=>EFL =<F< 5?<6=57> E65F4. 
 

20.'>46<F5 =><5D4 6E5E ?D46<?L=OE >F65F>6 

 $57G?<D>6>4 E65F4 D4D ?D><76>4<FEO ?D< ?><>M<: 

1) >644D>E?4 �-314;  2) D57?>E>>?4 �-303;   3) <><5=F>E>>?4 �-21; 

4) M?<4<>E>>?4 --178;  5) E?5F<4?L=>7> M>D4=4. 

D. 4.   E. 5.  F. 6.   G. 7. 

 

$<E.2. �6F><>5<?L=O5 ?4<?O =4>4?<64=<O 

21. 'EF4=>6<F5 E>>F65FEF6<5 

�D<<5=5=<5 ?4<?: 

� E<7=4?4E  

1) F>D<>65=<O < ?>6>D>F4; 

2)7454D<F=OE >7=5=; 

�>M=>EFL, 6F 

A. 3. 

B. 5. 
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3) 5>>>6OE ?>6F>D<F5?5= ?>6>D>F>6. C. 21. 
 

�4D<4=F 7 4 

1. -?5>FD<G5E><5 E<7=4?O: 

1) 557DG?>D=O5; 2) ?D>6>4=O5; 3) >=>?>G=O5; 

5) 55E?D>6>4=O5; 6) DG?>D=O5 (F>=4?L=O5). 

 

4) 55E>=>?>G=O5; 

 

2. �6G>>6O5 >>?554=<O E>744NFEO (D<E.1): 

1) >5<>F>>= 6; 2) <5<5D4=>= 9; 3) >>=F4>F4<< 8 4) D57>=4F>D>< 3\ 

5) >>=45=E4F>D>< 9. 

 

$<E.1. �6G>>6>= E<7=4?: 4 4 G5DF56; 5 M?5>FD<G5E>4O 

EE5<4 

3. %5D45G=<> 4 (D<E.1): 

1) D47<O>45F >>=F4>FO 8  2) 74>D5??5= =4 <5<5D4=5 7;  3) E>7445F =<7><= F>= 

76G>4; 

4) E>7445F 6OE>><= F>= 76G>4;  5) ?5D5<5M45FEO 6=GFD< M?5>FD><47=<F4 6. 

4. �>=45=E4F>D 9 (D<E1): 

1) ?D54>ED4=O5F >>=F4>FO 8;  2) ?D54>ED4=O5F 6>?NG4F5?L 10, 

3)G65?<G<645F =4?DO65=<5 6 F5?< E<7=4?4; 4) 74DO645FEO ?D< D47<O>4=<< 

>>=F4>F>6 8 
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5) D47DO645FEO ?D< 74<O>4=<< >>=F4>F>6 8. 

5. �4EFD>=>4 F>=4?L=>EF< E<7=4?4 (D<E1): 

1) 6<=F>< 1;  2) 6<=F4<< 2;  3) 6>?NG4F5?5< 10,  4) >>=45=E4F>D>< 9" 

5) M?5>FD><47=<F>< 6. 

6. 'EF4=>6<F5 ?D46<?L=GN ?>E?54>64F5?L=>EFL 

$45>F4 M?5>FD>E<7=4?4 (D<E 1): 

1)  D47DO6 >>=F4>F>6 8;  2)  6O?DO<?5=<5 <5<5D4=O 11; 

3)  F>> G5D57 >5<>F>G M?5>FD><47=<F4 6;  4)  6>745=EF6<5 =4 >=>?>G 

6>?NG4F5?O 10; 

5)  6FO7<64=<5 E5D45G=<>4 4 < ?D>7<5 <5<5D4=O 11; 

6)  <EG57=>65=<5 F>>4 6 >5<>F>5 M?5>FD><47=<F4 6. 

7. �>?NG5=<5 DG?>D=>7> M?5>FD>E<7=4?4 (D<E 2): 

1)  F>> ?> >5<>F>5 4;  2)  6>?NG5=<5 E<7=4?>6 1;  3)  74<O>4=<5 >>=F4>F>6 2; 

4)  6>745=EF6<5 =4 >=>?>G 5;  5)  ?D<FO65=<5 O>>DL>4 3 > E5D45G=<>G >5<>F>< 

4. 

 

$<E 2. %E5<4 6>?NG5=<O DG?>D=>7> 76G>>6>7> E<7=4?4 

8. �>?>?=<F5?L=>5 D5?5 E<7=4?4 =4 D<E 2: 

1) 74E<F D44<>?><5E<;  2) E>7445F <5?>4<N E<7=4?4;  3) <5=O5F F>=4?L=>EFL 

E<7=4?4; 

4) GE<?<645F 7D><>>EFL E<7=4?4;  5) ?D54>ED4=O5F >>=F4>FO >=>?>< 5. 
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9. �>F>=4E 6>?NG45F 6 E55O: 

1) 6<4>>EF=O= =4E>E;  2) M?5>FD>46<74F5?L E M?5>FD><47=<F4<<; 

3) M?5>FD>46<74F5?L E ?>EF>O==O<< <47=<F4<<. 

%?G6<F 4?O: 

4) ><O64F5?O D4D;  5) ><O64F5?O EF5>>?; 

6) ?>44G< 55=7<=4 <7 F>??<6=>7> 54>4 F<D>G?OF<< >E?4644NM5= 6<4>>EF<. 

10. �7<5=5=<5 E>>D>EF< D45>FO EF5>?>>G<EF<F5?O (D<E 3) 4>EF<745FEO: 

1) ?5D5>?NG4F5?5< 11;  2) >>=F4>F=O< 4<E>>< 4; 

3) 5<<5F4??<G5E><< ?D54>ED4=<F5?5< 12; 

4) 6>?NG5=<5<-6O>?NG5=<5< D57<EF>D4; 

5) >F>?NG5=<5< >4=>= >5<>F>< M?5>FD>46<74F5?O 9. 

11. '5D6OG=>5 >>?5E> 5 (D<E 3): " 

1) ?D<6>4<F >D<6>L<? -    2) ?D<6>4<FEO >F G5D6O>4 6; 

3) ?D<6>4<F G5D6O> 6 < 64?<> 7;   4) ?D<6>4<F >>=F4>F=O= 4<E> 4; 

5) <<55F M?5>FD<G5E>GN E6O7L E 4<E>>< 4. 

12. �>=F4>F=O= 4<E> 4 (D<E 3): 

1) <7>?<D>64= >F 64?4 >>?5E4 5; 

2) <<55F M?5>FD<G5E>GN E6O7L E >>=F4>F>< 13 

�F>?NG45F EF5>?>>G<EF<F5?L ?D< GE?>6<<: 

3) ?5D5>?NG4F5?L 11 6 ?>?>65=<< %; 

4) ?5D5>?NG4F5?L 11 6 ?>?>65=<<; 

5) ?5D5>?NG4F5?L 11 6 ?>?>65=<< 11; 

6) >D4==55 ?>?>65=<5 M5F>> =4 65FD>6>< EF5>?5. 
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$<E.3. %F5>?>>G<EF<F5?L: 4 4 GEFD>=EF6>; 5 4 EE5<4 

13. �D54>ED4=<F5?L 12 (D<E 3): 

1) 6>?NG45F M?5>FD>46<74F5?L;   2) >F>?NG45F M?5>FD>46<74F5?L 

� 746<E<<>EF< >F: 

3) ?5D57DG7><;   4) EF5?5=< =47D564;  5) 57> G4EF>FO 6D4M5=<O. 

14. �D5>5D47>64=<5 6D4M5=<O 64?<>4 7 6 >4G4=<5 M5F>> 2 (D<E 3): 

1) >>?5E>< 5;   2) DOG47>< 7;   3) G5D6O>>< 6   4) >D<6>L<?>< 10, 

5) M?5>FD>46<74F5?5< 9. 

15. ->>=><4=75D ?D<=G4<F5?L=>7> E>?>EF>7> E>44 (M?EE): 

1) G?GGL45F F>??<6=GN M>>=><<G=>EFL;  2) G<5=LL45F 747DO7=5=<5 

4F<>ED5DO; 

3) G65?<G<645F <>M=>EFL 46<74F5?O;   4) >5>74M45F E>EF46 7>DNG5= E<5E< 

�F>?NG45F E<EF5<G E>?>EF>7> E>44 >4D5ND4F>D4 ?D< GE?>6<<: 

5) 4D>EE5?L >4D5ND4F>D4 74>DOF; 

6) 4D>EE5?L >4D5ND4F>D4 >F>DOF; 

7) G4EF>F4 6D4M5=<O 46<74F5?O 5>?55 170042100 <<=
-1

; 

8) G4EF>F4 6D4M5=<O 46<74F5?O <5=55 110041900 <<=
-1
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� 6>?NG45F, 5E?<:  

9) 4D>EE5?L >4D5ND4F>D4 74>DOF;  10) 4D>EE5?L >4D5ND4F>D4 >F>DOF; 

11) G4EF>F4 6D4M5=<O 46<74F5?O 5>?55 170042100 <<=
-1

; 

12) G4EF>F4 6D4M5=<O 46<74F5?O <5=55 110041900 <<=
-1

. 

16. �?>> G?D46?5=<O > (D<E 4) G?D46?O5F: 

1) >?4?4=>< Y;  2) 44FG<>>< S2;   3) E<EF5<>= 746<74=<O. 

�>?GG45F <=D>D<4F<N >F: 

4) >?4?4=4 ';   5) 44FG<>4 S2   6) E<EF5<O 746<74=<O. 

 

$<E 4. ->>=><4=75D ?D<=G4<F5?L=>7> E>?>EF>7> E>44: V 4 5?>> G?D46?5=<O;  

� 4 M?5>FD><47=<F=O= >?4?4=; S2 4 44FG<> ?>?>65=<O 4D>EE5?L=>= 

74E?>=><;  

57 4 6>?NG4F5?L 

 

&5<4 11. &D4=E<<EE<O. 

1.�DG??O 45F4?5= EF5??5=<O:  

  1)&N=5D;  2)$476>4;  3)�D<6>4;  4)�54><O5;  5)�54GM<5;  6)�5EGM<5;  

7)$54G>F>D; 

  8)�46<<=>5 GEFD>=EF6>;  9)�5E4=<7< 6O>?NG5=<O;  10)�5E4=<7< 

?D<64F<O. 

2.�54GM<5 45F4?<: 
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  1)�>6GE;  2)�544?L;  3)�4DF5D;  4)�5<?D5D;  5)&DG5>?D>6>4O;  6)�54><O= 

4<E>; 

  7)�46<<=>= 4<E>;  8)�?46=O= F<?<=4D;  9)$45>G<= F<?<=4D; 

  10)�F6<<=O5 DOG47<;  11)�<?>4 6O>?NG5=<O;  12)�46<<=O5 ?DG6<=O: 

  13)�O6<<=>= ?>4L<?=<>. 

3.�54><4O 45F4?L: 

  1)�>6GE;  2)�4DF5D;  3)&DG5>?D>6>4O;  4)�54><O= 4<E>;  5)�46<<=>= 4<E>; 

  6)$45>G<= F<?<=4D;  7)�F6<<=O5 DOG47<;  8)�<?>4 6O>?NG5=<O; 

  9)�46<<=O5 ?DG6<=O;  10)�O6<<=>= ?>4L<?=<>. 

4.�4F5D<4? =4>?44>> 654><>7> 4<E>4: 

  1)%F4?L;  2)'G7G=;  3)�5D56>;  4)�?N<<=<=: 

  5)�E55EF E =4?>?=<F5?5< < E6O7GNM<=; 

  6)$57<=4 E =4?>?=<F5?5< < E6O7GNM<<. 

5.�5<?D5D EF5??5=<O 6E>4<F 6 E>EF46: 

  1)�54><OE 45F4?5=;  2)�54GM<= 45F4?5=:  3)�D<6>44;  4)�46<<=>7> 

GEFD>=EF64; 

  5)�5E4=<7<4 6O>?NG5=<O;  6)�5E4=<7<4 6>?NG5=<O. 

      �= 6>?NG45F: 

      7)�>6GE;  8)&4D5?<;  9),GDG?O:  10)%FG?<FG;  11)�>DL5=L;  

12)�DG6<=O; 

     13)�F6<<=O5 DOG47<;  14)$D<>F<>==O5 M?5<5=FO. 

6.�46<<=>= 4<E> ?>?GG45F >DGFOM<= <><5=F G5D57: 

  � EF5??5=<< ���: 

  1)�47O 6 <4E>6<>5;  2)'?DG7<5 ??4EF<=O;  3)�>=4 6 >>6GE5 < ?D<?<6O =4 

4<E>5. 

    � EF5??5=<< ���: 

    4)�47O 6 <4E>6<>5;  5)'?DG7<5 ??4EF<=O;  6)�>=4 6 >>6GE5 < ?D<?<6O =4 

4<E>5. 

        � EF5??5=<< ���: 
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     7)�47O 6 <4E>6<>5;  8)'?DG7<5 ??4EF<=O;  9)�>=4 6 >>6GE5 < ?D<?<6O =4 

4<E>5. 

        � EF5??5=<< �����: 

10)�47O 6 <4E>6<>5; 11)'?DG7<5 ??4EF<=O;  12)�>=4 6 >>6GE5 < ?D<?<6O =4 

4<E>5. 

7.�D<6>4 EF5??5=<O ��� 3 66: 

  1)&O7<;  2)&5?<;  3)�<?>4;  4)�544?L;  5)$OG47<;  6)&>?>4F5?L;  

7)&DG5>?D>6>4O; 

  8)�=56<>GE<?<F5?L;  9)�?46=O= F<?<=4D;  10)$45>G<= F<?<=4D; 

8.�D<6>4 EF5??5=<O ��� - 131: 

  1)&O7<;  2)�<?>4;  3)�544?L;  4)$5<5=L;  5)$OG47<;  6)&>?>4F5?L;  

7)&DG5>?D>6>4O; 

  8)�=56<>GE<?<F5?L;  9)�?46=O= F<?<=4D;  10)$45>G<= F<?<=4D; 

9.�D<6>4 EF5??5=<O �4<�� 3 4310: 

  1)&O7<;  2)�<?>4;  3)�544?L;  4)$5<5=L  5)$OG47<;  6)&>?>4F5?L;  

7)&DG5>?D>6>4O; 

  8)�=56<>GE<?<F5?L;  9)�?46=O= F<?<=4D;  10)$45>G<= F<?<=4D; 

10.$45>G55 F5?> 6 7<4D46?<G5E>>< ?D<6>45: 

  1)�=5DF=O= 747;  2)%64FO= 6>74GE;  3)�>F>D=>5 <4E?>; 

  4)&D4=E<<EE<>==>5 <4E?>;  5)�<4D46?<G5E>>5 <4E?>; 

  6)&>D<>7=4O 6<4>>EFL. 

11.'65?<G5==O= E6>5>4=O= E>4 ?544?< EF5??5=<O 6O7>65F: 

  1)�G>E>64=<5 EF5??5=<O;  2)�5?>?=>5 57> 6O>?NG5=<5; 

  3)'E>>D5==O= <7=>E =4>?44>>;  4)�7=>E 6O6<<=>7> ?>4L<?=<>4; 

  5)�4FDG4=5==>5 ?5D5>?NG5=<5 ?5D544G. 

12.�54>EF4F>G=O= E6>5>4=OE E>4 ?544?< EF5??5=<O 6O7>65F: 

  1)�G>E>64=<5 EF5??5=<O;  2)�5?>?=>5 57> 6O>?NG5=<5; 

  3)'E>>D5==O= <7=>E =4>?44>>;  4)�7=>E 6O6<<=>7> ?>4L<?=<>4; 

  5)�4FDG4=5==>5 ?5D5>?NG5=<5 ?5D544G. 

&5<4 14. �?46=4O ?5D544G4 4<DD5D5=F<4?4 < 4<DD5D5=F<4? 
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1.�> <5EFG GEF4=>6>< <>EFO <>7GF 5OFL:  

  1)�44=<<<;  2)�54GM<<<;  3)�5D54=<<<;  4)$47D57=O<<;  5)$47N5<=O<<9 

  6)�5D47D57=O<<;  7)�5D47N5<=O<<;  8)'?D46?O5<O<<;  

9)�D><56GF>G=O<<; 

  10)�>445D6<64NM<<<;  11)�><5<=<D>64==O<<. 

2.�> =47=4G5=<N <>EFO <>7GF 5OFL: 

  1)�44=<<<;  2)�54GM<<<;  3)�5D54=<<<;  4)$47D57=O<<;  5)$47N5<=O<<9 

  6)�5D47D57=O<<;  7)�5D47N5<=O<<;  8)'?D46?O5<O<<;  

9)�D><56GF>G=O<<; 

  10)�>445D6<64NM<<<;  11)�><5<=<D>64==O<<. 

3.�?46=4O ?5D544G4: 

  1)'65?<G<645F >DGFOM<= <><5=F; 

  2)�5D5445F >DGFOM<= <><5=F ?>4 G7?>< 90ç > ?D>4>?L=>= >E< 46F><>5<?O; 

  3)'65?<G<645F E>>D>EFL 46<65=<O; 

  4)�5D5445F >DGFOM<= <><5=F ?>4 G7?>< 45ç > ?D>4>?L=>= >E< 46F><>5<?O.  

4.�5D544F>G=>5 G<E?> 7?46=OE ?5D544G =4E>4<FEO 6 ?D545?4E: 

  1) 2 3 3;  2) 0.7 3 0.9;  3) 4 3 9;  4) 10 3 14. 

5.�?46=4O ?5D544G4 >55E?5G<645F: 

  1)�57>>EFL G?D46?5=<O EF5??5=<5<; 

  2)'<5=LL5=<5 D4EE>44 F>??<64 46F><>5<?5<; 

  3)'<5=LL5=<5 =47DG7>> 6 47D574F4E FD4=E<<EE<<; 

  4)%=<65=<5 <4EEO < 7454D<F>6 47D574F>6 FD4=E<<EE<<; 

  5)�57>>EFL E>7?4E>64=<5 E>>D>EF=>= E4D4>F5D<EF<>< 46<74F5?O; 

6.�<?><4=4O 7?46=4O ?5D544G4 >7=4G45F GF>: 

  1)�=4 46>==4O;  2)�=4 D47=5E5==4O;  3)' =55 L56D>==>5 74F5??5=<5; 

  4)�E< 55 L5EF5D5= ?5D5E5>4NFEO;  5)' =55 F<?<=4D<G5E><5 L5EF5D=<; 

  6)�E< 55 L5EF5D5= ?5D5>D5M<64NFEO. 

7.�<?><4=4O 7?46=4O ?5D544G4 <<55F: 

  �D5<<GM5EF64: 
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  1)�>6OL5==O= ���;  2)�5ELG<=>EFL 6 D45>F5;  3)�5L56<7=4 6 

?D><76>4EF65; 

  4)�>=<65=<5 F5=FD4 FO65EF< 46F><>5<?O; 

  5)�>6OL5=<5 F5=FD4 FO65EF< 46F><>5<?O; 

  6)'?GGL5=<5 G?D46?O5<>EF< 46F><>5<?5<; 

  7)'65?<G5=<5 ??>M44< 7G5L56 6 74F5??5=<<. 

8.�<?><4=4O 7?46=4O ?5D544G4 <<55F: 

  �54>EF4F><: 

  1)�>6OL5==O= LG< ?D< D45>F5;  2)�>6OL5==>5 FD5=<5 6 74F5??5=<<; 

  3)�>FD55=>EFL 6 E?5F<4?L=>= E<47>5;  4)'EG4L5=<5 G?D46?O5<>EF< 

46F><>5<?5<. 

9.�56>>?5E=O= 4<DD5D5=F<4? >55E?5G<645F: 

  1)'?D>M5=<5 >>=EFDG>F<< FD4=E<<EE<<; 

  2)'65?<G5=<5 ?D>E>4<<>EF< 46F><>5<?O; 

  3)�?46=>EFL FD>74=<O 46F><>5<?O E <5EF4; 

  4)'<5=LL5=<5 D44<GE4 ?>6>D>F4 46F><>5<?O: 

  5)%=<65=<5 ?>F5DL <>M=>EF< ?D< ?D>E>645=<< ?>6>D>F>6; 

  6)�D4M5=<5 654GM<< >4=>>E=O< >>?5E4< E D47=O<< E>>D>EFO<< ?D< 

?D>E>645=<< ?>6>D>F>6. 

10.%<<<5FD<G=O= >>=<G5E><= 4<DD5D5=F<4?: 

  1)�D>EF >>=EFDG>F<6=>;  2)�5?4445F 6OE>><< ���; 

  3)�>6OL45F ?D>E>4<<>EFL 46F><>5<?O:  4)�>=<645F ?D>E>4<<>EFL 

46F><>5<?O; 

  5)�5?4445F ?>6OL5==O< FD5=<5< < =<7><< ���; 

&5<4 15.%>4>64O G4EFL, ?>465E>4 < >>?UE4 

�4D<4=F 7 1 

&5EF «����%�» 

1.-?5<5=FO >>?5E4: 

  1)�5>4;  2),<=4;  3)�4<5D4;  4)%FG?<F4;  5)%>54<=<F5?L=4O G4EFL; 
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2.�E=>6=O5 G4EF< ?>>DOL><; 
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